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IV.1 Introducere

�� ��� �������� �� ����� 	��
���� 
����	 ���������� ����
�� ��������� ��

!���" #��!�$� %&������ '������ !���" ��&��( #$ '�!�$#$�$ �#�! ��#��$�$�� #$ ���$��$�$��$"$

)� #����������"$ #$ *$ !���"( �$!+$��� #$!�#�� $��$ !��$!� , �!$��$ !�#��� ���� *���$!���$

*$���� !���"$ %&�������$ � � !�����-�&$�� ��*��$ �$!+$��$� ��������$, 
���"�" #$

���������� .
�/ !� !�����-�&$�� *���$ �� ����������� '������ 
� � � !�����-�&$�� *���

��"����$� ���� !�#�� .#$!�#��/ #$ �����"��$ � #��$"��, �*"�!����"$ �!$���� �$0��!� #$ !�#��$

���� #�+$��$1 !�����!���� ��2�"$( !�����!���� *��� ���$"��( ��#$���� #$ ���������$

����"��� +�!$�#��$( ���������� #$ #��$ *��� ����$�$"$ �3 )� ��#�� $4���$��$ $�!,

�$0��!�"$ #$ !��$!��$ � $����"�� #$ ���������$ '� ����$�$"$ #$ !�����!����

#�&���"$ �� *�$%$���� ���$�$� *��!��! �2�� #�� ���� 567 !-�# �� ���� �����#��$ '�

!�����!����"$ *��� ���$"�� *�$!�� )� '� ����$�$"$ #$ ���!��$ � #��$"�� !� #$������$ ��#�!�� (

*$ 
� .������� 	
��/, 	����$&�� #$ *���$!���$ � �!$���� !�#��� ��� ��#���!�� !�������,


�#���"$ #$ ��* 52"�!5 �� $+�"��� #$ "� ����� 2���� "� +������� ��"��2��( !$$� !$ � *$����

�$#�!$�$� !����#$��2�" � $�$�&�$� �$!$���$ #$ ���������$ *�$!�� )� "� ���*"���!��$�

$!0�*��$��$"�� #$ ���������$��$!$*��$,

8� ��$"$ ����$�$ #$ !�����!����( *$���� �! #$�$� !��*"$4�� ��� )� � !����"��

$!0�*��$��$"��( �$ *�$�$� �$�"�%��$� #��� � #$�$!��$� $����"�� #$ ���������$ � � !��$!���

"��( �+-�# !� �����$ !$�$�$� #$ �$���������$ � !�#�$"�� $�����$,

8� !�%�" !�#�"�� �	
�� !� $4*�����$ *$ 9 2��� � !���!�$�$"�� �$ *��!$#$�% "�

�# �&��$� ���� �)������� ��� �� 
������� *��� �*"�!��$� ��$� ������$ !��+$����1

◆ *$���� 
������� 
��� .�
������
��/ �$ !�"!�"$�% +�"���$� 2���"�� $4!$#$����

����$" '�!-� *��#$�$� �!�$��"�� �������� � ��$ #$ +�"���$ *�� .$4$�*"�1 : 77:::77/;

◆ *$���� 
������� ��
��� .�������
��/ �$ !�"!�"$�% +�"���$� ���"�� 2�� ����$"

'�!-� *��#$�$� �!�$��"�� �������� � ��$ #$ +�"���$ *�� .$4$�*"�1 7 :::7:7:/;

◆ *$���� 
������� �� ��
 ��� .��������
��/ �$ �����#�!$ �� 2�� 5:5 '� �!�$��"

��������;

◆ *$���� 
������� �� ��
 ��� .���������
��/ �$ �#��& �� 2�� 575 "� ��-�)���"

�!�$��"�� ��������,

8� ����$ ��������"$( �$!$*����" +$����! +�"���$� 2���"�� #$ *������$ '� +$#$�$�

#$*��� ��� $+$����"$"�� $���� #$ ���������$,

�������� 	
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���� � 	�	���� �� 
�����
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�$�$���$� 2���"�� #$ *������$ �$ ��!$ !������ �$��#$� �#�*���$1

◆ *������$ *�� 1 �$ ���$�% ��#�"��< 2���� �������)� .=�&,�3,:/ .��"����#

+�"���$� ������" 575/;

◆ *������$ ��*�� 1 �$ �$�& ���� ��#�"��< � 2���"�� #�� �$&�����" #$ ���������$

.	� � ��
�� ���
����� �*"�!-�# � +�"���$ ������" 5:5,

8����!-� �!$��$ �$��#$ �$ "����$�% #��� "� #$�$!��� ���� $���� ���*"$ #$

���������$( �$ *���$ �$�"�%� � +$����!��$ !��*"$4 � *���� ��� �$���"�"��( "�!�-�#���$ *$

�����!� #$ 2��� .9>9 2���/ !� *������$ +$����!�� ����"��� *$ "���� )� *$ !�"���$( !�

*���2�"����$� #$�$���� ��� *�%����"�� ���� $����,

�������� =�$ )���" #$ #��$1

:77:77:,:::::7:,:::7:::,7777:7:,77:7:::,7777:77,::7777:,:7:777: ,,,,,,,

	$ ��������� +$!����" #$ #��$ !��$�*��% ��� *����"�� ?@ #$ 2��� '����� �����!$

* �����! ( 2�#��$������" )� �$ �����#�! 2���� #$ *������$ *$ "���� � 6�� )� )� *$

!�"���� � 6��( *$ *���!�*��" *���� ��� ��*��$1

M =
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












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1 0 0 1 0 0 1 0
1 1 1 1 1 0 1 1
1 1 1 0 1 1 1 1
0 0 0 0 1 0 1 1
0 0 1 0 1 1 1 1
0 0 0 0 1 0 0 0
1 1 0 0 0 0 1 0
1 0 0 1 0 1 1 1
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









A���" 2���� �������� �$ �2���$ *��� !����$� "����"�� �����!�� !�#��$ �1

:77:77:7,:::::7::,:::7::::,7777:7::,77:7::::,7777:777,::7777:7,

:77:7:::,

��! �$ �$!$*����$�% $����� 2���� ��2"������( �����!$� !��$�*��% ����$ �$!+$��$�

�$!$*������$ $��$1
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R =

























1 0 0 1 1 0 1 0
1 1 1 1 1 0 1 1
1 0 1 0 1 1 1 1
0 0 0 0 1 0 0 1
0 0 1 0 1 1 1 1
0 0 0 1 1 0 0 0
1 1 0 0 0 0 1 0
1 0 0 1 0 1 1 1
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
 v1 =
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

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1
1
0
0
1
1
0
1
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
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















 v2 =  1 1 0 0 1 1 0 1 

�$!�"!�"-�# *��#$��"$ ��$! �$� "���� )� !�"���$( �$ �2��� +$!����� ��� ��� 	$

�2�$�+ �*������ $����"�� *$ "����"$ :; C; ?; � )� *$ !�"���$"$ <; ?; �; 9

.���$�����$� ��� � !�� #$ "� : "� 6/, B���� #$�$������� #$ ���$��$!���"$ �!$����� *��

�� $������,


$���� � ��� � $����"�� �%��" #$ :7�� )� ��*"����$ �"$�����$ � �!$�����( $��$

*���2�" !� !$" ��"� �� 2�� #�� !$� ?@ �� �����!�� � ��$ $�����, 
�%���� �!$����� �$

#$�$���� ���*"� *��� ���$��$!���$� "���$� !� !�"���� !��$ �$%�"� *���

�$!�"!�"��$� 2���"�� #$ *������$, � $����$ *$ �" :7�"$� 2�� #�� )��( +� !��#�!$ "�

��#���!��$� *���� ��� *$ "���� � <�� )� *$ !�"���� � C�� � �����!�� #$ #��$ ����#

����$" *���2�" !��$!��� ��,

����)� ����$�$"$ !��*"$4$ #$ !�����!���� #�&���"$ ��!"�# !��!���$ #$ !��$!��$ �

$����"�� ��"����#���$1 !�#��� D�����&; !�#��� �$$#�	�"����; !�#��� !��+�"������"$;

!�#��� !�!"�!$; !�#��� ���B�( !��$ +�� �� ���#���$ '� �!$�� !�*���",


�#���"$ D�����& 2����$ ���� ���"$ *$���� ���������� ��$!���$ #$ %&����$

�#���+$ !� #�����2���$ ����&������� #�� ���� +�"�$��2�"$ '� !�%�" �*�����$� �$���$��"�� #$

��#��&

	��� ���#���$ '� �!$�� !�*���" *$��������$"$ !�#���"�� �$$#�	�"���� #$�����$ '�

!-�*��� ��"��� #$ #��$���$ #��$������( *�$%$��-�#���$ !�#���"$ �*���$( �#�! !$"$ !��$

�������! �� !��*����� '���$ !�$)�$�$� #$2���"�� �������� )� ��� ��" #$ $���� !��$!��2�"$,

�"&������� #$ !�#��$E#$!�#��$ �	 *�� �� ��*"$�$����� !� �F�����" *��!$����$"��

�*$!��"�%��$ *$���� !-�*��� ��"��� )� *�� �� $4$!����� '� ���* �$�", �*"�!����"$ �!$����

!�#��� !�*���# ����������"$ #�&���"$ !� ��#��& )� ��� *���� !$"$ !� *$����2���� �#���+$

�"$�����$,


�#���"$ !��+�"������"$ �� ���� ���"�%��$ '� +������ 2���� �*$!���!-�#���$

!�#���"$ �*���$ !� !$" ��"� *���� !$"�"$ #$ �$����$, � ���� ��*�� �!$��� "���� *$����

� *$����$ *��!$���$� #��$"�� '� ���* �$�" *�������� ��� � "������ #$ �*$����� �����$��!$, 8�

�������� 	
��

���� � 	�	���� �� 
�����
���� �������� �6



+������ 2���� ( �!$��$ !�#��� ���� #$��$2�� #$ *$��������$ *$���� ���������� #$ #��$ !�

+��$%$ ��!� )� �$#��( ��$!���$ #$ %&����$ �#���+$ #$ ��* &�������, �������$� !�*�!�� ��� #$

!��$!��$( #$�$������ #$ !�$)�$�$� $4!$��+ � ��� ��"�� #$ �*$����� $�$!����$ '�

#$!�#��( ��*��$ *���$!���$� �!$���� !�#��� '� !-�* ��"���( ��$�$�$� !�#���"�� �	,

	��� ���#���$ !�#���"$ !��+�"������"$ ��"��*"$ �*���$ *$���� !-�$+� !-�*���

�"&$2��!$ )� *$��������$"$ �!$�����, �+�#$�� !�*�!����$� #$ !��$!��$ � $����"�� � �!$����

!�#��� $��$ ��"� ��� ���$ ��� #$ !�#���"$ 2����$( *$���� �!$"�)� ��� � #$ �*$�����

$�$!����$ "� #$!�#��$, �!$�� "�!�� *$����$ ���"�%��$� "�� )� *$���� ���������� !� ��#��&,

�$��#� #$ #$!�%�$ �$&�$���� '� �*"�!��$� �"&������"�� 3��$�2� #$ #$!�#��$( *$

2"�!��� #$ "��&��$ +����2�" ( $��$ ���#��� '� !�%�" 2���� #�� )� *$���� �*"�!��$� *$

���2�"��� #$ ��* ��"��2��,

8� ����"( ���� ���"�%��$ �$0��!�"$ !��2����$ #$ !�#��$( !��$!����$ #$ $����(

��!"���+ !$"$ ���B� !��$ *��!$�$�% �$���"�" '���$�$���( '� �����!� #$ #��$, 
������!���

!�#���"�� ���B� *���$ �� �$�"�%�� '� !-�* ��"���( ����$" '�!-� #��$"$ � ��$ *�$"�!���$

#��$!� *$ ����!���� #$ ���2�"��� ��"��2��, 	��� ���"�%��$ !-�$+� !��2������ *���2�"$ #$

!�#��� �	 )� !��+�"������"$( *$ <( C )� �$�*$!��+ ? 2���, 
-)��&�" �$#�� #$ !�#��$ *$����

�� ���2�" $��$ #$ !��!� 6 #B, 
�$)�$�$� #��$������"�� !-�*�"�� #$ #$������$ #$�$���� 

+��$%$ #$ ���������$ ��� ���� *$���� �!$��)� *����$��� #$ ����$� ." ���$ #$ 2��# ( ��� #$

$����( ��*��� �$���"E%&����/,

�$0��!�"$ #$ !��$!��$ � $����"�� *$���� '�2�� � ���$� *$��������$"��

��#�"�����$"�� #�&���"$ *$���� #��$���$ !��#���� #$ ���������$ !$$� !$ ��*��$ ���"�%�

!���� � �!$�����,

IV.2 ������� 	
���


���������� �� ���
 ��
��� .�= � ����
�  
���� $��$ *��� #$������$ �� !-�*

�"&$2��! ����� '� !��$ �$ �����#�! #�� �*$����� ���$��$( �#����$� )� '���"���$�( *$���� !��$

$4��� �
����� ��	��	 .7/ �$�*$!��+ �
����� 	������ .:/1

.�3,:/∀ a ∈ GF, a + 0 = a
.�3,</a ⋅ 1 = a

�*$�����"$ #$ �! #$�$ )� '�* ����$ �$ #$���$�! ��*"�!�� *$ 2�%� �
�����	
	� �
	�

.��/ )� � �
�����	
	� ������ .:E�( � �$��"/1

.�3,C/∀ a ∈ GF, daca a + b = 0 atunci b = −a

�������� 	
��

���� � 	�	���� �� 
�����
���� �������� �@



.�3,?/∀ a ∈ GF\{ 0} , daca a b = 1 atunci b = 1/a

�*$�����"$ #$ �#����$ )� #$ '���"���$ #$�����$ '� �= �� *��*��$� �� #$

"���������$(!�������+����$( ���!����+����$ )� #�����2���+����$ ��$�$�$� !$"�� #$�����$ '�

!-�*�" ���$�$"�� !��*"$4$,


$���� �"$ ! ��� $"$�$��$ *�� �� �$*�$%$����$ *$ � 2���,∀ m ∈ Z ∗ , ∃ GF(2m)
 �	������ 8� �=( �����$� � #�� $"$�$��$ �$ �$�"�%$�% *��� �����$�

��#�"��< 2�� !� 2��,

�������1 �=.:�/( � = ?( ::7: + :::7 = 77:: �#�! :C + :? = C,

!��	
�����1 
��#���" � #�� $"$�$��$ #�� �= ��$2��$ � ��$ $"$�$�� �"

!-�*�"��, ���$ �$!$��� #$!� �����#�!$�$� ��$� �$&�"� #$ $+����$ � #$* )����

.�
�����!�����/ '� �$��$�� *�"������"�,

=�$ *.4/ �� *�"���� #$ &��# �( ��$#�!��2�" '� �=.<�/( �+-�# !�$��!�$��� 2�����

.��2$" �3,:/,

"���
	
 #$��


�"�����$ ��$#�!��2�"$ ���"�%��$ '� �=.<�/

���$�����$� �=
�


�"�����$ ��$#�!��2�"$
*.4/

2 x2+x+1

3 x3+x+1; x3+x2+1

4 x4+x+1; x4+x3+1

5 x5+x2+1; x5+x3+1

6 x6+x+1; x6+x2+1; x6+x3+1; x6+x3+1; x6+x4+1; x6+x5+1

7 x7+x+1; x7+x3+1; x7+x4+1; x7+x6+1

8 x8+x2+1; x8+x3+1; x8+x5+1; x8+x6+1

	$ ���!��% ��$! ��� $"$�$�� �" !-�*�"�� ��$� ����$ #$ �$*�$%$����$1 %$!���" (

2���� )� *�"������" 1

.�3,�/a ⇔ (a0, a1....am−1) → a(x) = Σ
i=0

m−1
aixi

�$����� *��#���" � #�� $"$�$��$ � )� 2 #�� !-�*( *��� *��#���"1

.�3,�/c(x) = a(x)b(x)mod(p(x))
��#$ !�"!�"�" !�$��!�$���"�� �$ �$�"�%$�% !� �*$����� #$ '��-�%�$�$ )� #$ �����$ ��#�"��<,

�������� 	
��

���� � 	�	���� �� 
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��� ����*"�!��$� ��#�"��*.4/ � *�"�����$"��( �$ $+�� #$* )��$�( �#�! 1

&��#.!.4// G � �:( #$!� ,c ∈ GF(2m)

�������1 8� �=.:�/ !� ( *$���� � = 9 )� 2 = ::( ! = �2 = :,p(x) = x4 + x + 1

"#���
�$

�

➊ ��! 2: = �� ( 2< = :E� ����!� �! #$�$� )� '�* ����$� $"$�$��$"�� #�� �= �$

$�$!��$�% !������ �$"����"��1

.�3,9/c − a = c + b1

.�3,6/c
a = c ⋅ b2

➋ �4���$��� )� ���!����$� $"$�$���"�� ��+$�� ���� ���&����$ ����� #�! *�"�����"

*.4/( ���"�%�� *$���� #$�����$� �*$����$� #$ ��"��*"�!��$ '� �=( $��$ ��$#�!��2�",

➌ �$&�"�"$ #$ �*$���$ '� �= �$ ��*"$�$��$�% �)�� !� �"&������,

8� *�$%$�� $4��� *��!$����$ #�&���"$ #$ �$���" *$���� �*$���$ '� !-�* ��"���,

�!$��$� ���� ���"�%��$ *$���� !�#��$� )� #$!�#��$� #��$"�� *$ 2�%� ���� �$&�"�

#$�����$ '� !-�* ���$��! ����� .�=/, 8� !-�* ��"��� *�� �� !��������$ ��-� !�#���

#$ ��* 52"�!5( !-� )� !�#��� #$ ��* 5��2��$5 .!��+�"������"$/,

➍ 
��*�����+ !� !-�*�" ���$�$"�� !��*"$4$( '� �= �$ * ���$�% 1

◆ �$��#$"$ #$ �$%�"+��$ � ����$�$"�� "�����$ #$ $!�����;

◆ �$&�"�"$ #$ !�"!�" �����!��";

◆ ������������ =����$� #��!�$� .�=�/ !��$ $4��� '� �=.�/ ����� *$����

������$ #��$������ .�/ �"$ +$!����"�� #$ �$���" )� ����$ ����� #�! � #�+�#$

��:,

���������� ������������ =����$� #��!�$� #��$!� )� ��+$�� �$ !�"!�"$�% '� �=

!� �$"����"$ 1

�=� 1 .�3,@/Cj = Σ
i=0

n−1
ciwij , j = 0, n − 1

��=� 1 .�3,:7/ci = Σ
j=0

n−1
Cjw−ij , i = 0, n − 1

��#$ H $��$ � � # !�� � ���� ��� #$ ��#�� � '� �=.�/ #�! � #�+�#$ �1

  .�3,::/wn = 1

	*�$ #$��$2��$ #$ �$"���� #$ !�"!�" '� !-�*�" ���$�$"�� !��*"$4$ �

�����������$� =����$� #��!�$�$ ��+$��$( '� �= �� �*��$ #�+�%��$� *��� � #������ ��� ���

��#�"��< � !�$��!�$���"�� *�"�����$"��,

8� �=.<�/ ���� +$����!��$ ��� ����$"$ !��#����1


:, .�3,:</y2m−1 = 1, ∀ y ∈ GF \ { 0}
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<, .�3,:C/y2m = y , ∀ y ∈ GF.


��!���$"$ #$ �*$���$ '� �= .�������( ��"��*"�!����( #�+�%�� )� ��+$����/ *�� ��

��*"$�$����$ !� !��!���$ "�&�!$ !��2��������"$( !� *���� "�&�!$ ��� !� �$����� !� +��$% 

���$ #$ �!!$�, �+����F�" �!$���� �$��#$ '" !��������$ ���*�" �$#�� #$ *�$"�!���$, �"$ ����

���"$ '� ��*"$�$����$� !��!���$"�� #$ !�#��$ '� �= !��$ � "�!�$%$ '� ���* �$�", �!$"$�)�

�*$����� *�� �� ��*"$�$����$ !� �"&������ ��"����# *��!$����$ #�&���"$ #$ �$���",

�������� 	 ���"�% � !-�*�" ��"��� !� 6 $"$�$��$ $4*����2�"$1

%$!���"1 GF(8) = {0; 1; 2; 3; 4; 5; 6; 7}
2����1 GF(8) = {000; 001; 010; 011; 100; 101; 110; 111}
*�"������"1GF(8) = {0; 1; D; D + 1; D2; D2 + 1; D2 + D; D2 + D + 1} .

� � �*$������" #$ '��-�%�$�$ !� �� 2�� .�����/,

	$ �"$&$ *$���� #$�����$� �*$����$� #$ '���"���$ '� �!$�� !-�*( *�"�����"1

p(D) = D3 + D + 1

	 $�$!�� � !-�$+� !�"!�"$ '� �!$�� !-�*1

6 + 3 = 5 ⇔ 110 + 011 = 101

5 − 2 = 5 + 2 = 7 ⇔ 101 + 010 = 111
7 ⋅ 3 = 2 ⇔ (D2 + D + 1)(D + 1)modulo[p(D)] = (D3 + 1)modulo[p(D)] =
= (D3 + D + 1 + D)modulo[p(D)] = D
2 ⋅ 5 = 1 ⇔ D(D2 + 1)modulo[p(D)] = 1 ⇒ 2−1 = 5
7
2 = 7 ⋅ 5 = 6

"#���
�$
�� ���$ �+����F�� ��#�" #$ !�"!�" �����!��" �" �����������$"�� �=� )�

��=� ��#��$������"$ '� �=1

.�3,:?/C = n − DFT{ c} = Ω n ⋅ c
.�3,:�/c = n − IDFT{ C} = Ω n

−1 ⋅ C

��#$ � )� % ���� +$!�����!�"��� !� � $"$�$��$ �*�����-�# !-�*�"��( ��� �$"����"$

#$ #$�����$ � �����!�"�� * �����!$ �>� ���"�%��$ ����1

.�3,:�/Ωn = [ωij
i⋅jmodulo−n] i;j=0;n−1

.�3,:9/Ωn
−1 = [ωij

−i⋅jmodulo−n] i;j=0;n−1

.ω $��$ '� �!$�� !�% � # !�� #$ ��#�� � � ���� ��� '� �= !����#$���,/

�*$�����"$ '���$ !�$��!�$��� �$ $�$!��$�% '� �=,

�������� 
������-�# $4$�*"�" ���$����( � #$�$���� � � # !��� #$ ��#�� 9 �

���� ��� '� �=.6/ )� � !�"!�" � �=� *$���� +$!����" .: 7 < ? 7 : 7/,


�"!�" � *��$��"$ "�� < '� �=.6/1

a = 2; 2 ⋅ 2 → D2 → 100 → 22 = 4;
2 ⋅ 4 → D3modulo(D3 + D + 1) = D + 1 → 011 → 23 = 3;
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2 ⋅ 3 → D(D + 1) = D2 + D → 110 → 24 = 6;
2 ⋅ 6 → D(D2 + D)modulo[p(D)] = (D3 + D2)modulo[p(D)] = D2 + D + 1
→ 111 → 25 = 7;
2 ⋅ 7 → D(D2 + D + 1)modulo[p(D)] = D2 + 1 → 101 → 26 = 5;
2 ⋅ 5 → D(D2 + 1)modulo[p(D)] = 1 → 27 = 1.
�$!� < $��$ $"$�$�� #$ ��#�� 9 '� �=.6/ !� *.�/ *�$!�%�� ��� ���,

8� &$�$��"( '������ �=( $4��� ��� ��"�$ $"$�$��$ �+-�# �!$"�)� ��#�� !$$� !$

!��#�!$ "� �2���$�$� ���� !�#��� �*��$�� #��$���$ #�� $!0�+�"$��$ !� *$��������$

'������ ������ �=,


$���� +$!����" #$ #��$ !����#$���( �2���$�1

C = 7 − DFT{ c} = Ω 7c =






















1 1 1 1 1 1 1
1 ω ω2 ω3 ω4 ω5 ω6

1 ω2 ω4 ω6 ω1 ω3 ω5

1 ω3 ω6 ω2 ω5 ω1 ω4

1 ω4 ω1 ω5 ω2 ω6 ω3

1 ω5 ω3 ω1 ω6 ω4 ω2

1 ω6 ω5 ω4 ω3 ω2 ω1











































1
0
2
4
0
1
0






















=

=






















1 1 1 1 1 1 1
1 2 4 3 6 7 5
1 4 6 5 2 3 7
1 3 5 4 7 2 6
1 6 2 7 4 5 3
1 7 3 2 5 6 4
1 5 7 6 3 4 2






















⋅






















1
0
2
4
0
1
0






















=






















6
2
1
4
1
2
5






















���� ����������� �������
�� �� �����

�� !�#�2"�! !��$!��� #$ $���� *���$F$�% �$!+$��� #$ ���2�"��� �������� ��� #$

%&����$"$ )� $����"$ �"$�����$ �����#��$ #$ !���"�" #$ !�����!����, �� ��$!��$ & ���2�"���

.2���/ !��$ �$ ��������( !�#�" !��$!��� #$ $���� �#��& .��I/ �����
	�� '����( �� 
�������,

���&��$� !�+-���"�� #$ !�# $��$ #$ � ���2�"��� .2���/,


$���� �!$��$ !�#��� �$ !�"!�"$�% ���� �� ������1

� = IE� .�3,:6/


��� �����#�!$�$� ���2�"���"�� #$ *������$( �$ ��� �$)�$ !�$)�$�$� #������$�

D�����& �����$ #����$ !�+���$"$ #$ !�# ��������$ '����!-� !��!����" #$ #$!�%�$ #��

�$!$*��� "�!�$�% *$ *���!�*��" #������$� D�����& �����$ #����$ !�+-���" �$!$*������ )�

!$" $������,
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��! #� ���  = 2t+1 = n-k, ����!� ��%� ��$�$"�� #$ #$!�%�$ #�� *"���" �$���"$"��

$��$ #$ � 2���( ��$�$"$ �� ���� ���&$��$ )� �$ *�� !��$!�� ��4�� � $���� #������ �$!+$�� #$

"��&��$ � ,

��! dH min  = 2t = n-k ����!� ��%� ��$�$"�� #$ #$!�%�$ #�� *"���" �$���"$"�� $��$

#$ � 2���( ��$�$"$ ���� ���&$��$( �$ *�� !��$!�� ��4�� .��:/ $���� )� �$ #$�$!�$�% *�$%$��� �

� $���� '������ 2"�! #$ � ���2�"���,


$"$ ��� !����!��$ !�#����2"�! !��$!����$ #$ $���� ���� 1

◆ !�#���"$ D�����&( ��&���%��$ *$ 2��� .#
�������
%�� ������;

◆ !�#���"$ �$$#�	�"���� ��&���%��$ *$ ���2�"���&#���������
%�� ������,

������ ������ �
����� ���� ��

	��� !�#��� "�����$ #$�!���$ *��� ��2$"$ #$ !�#��$ !��$ �*$!���! ��#�" #$

���!�$�$ � !�+���$"�� #$ ������$ #$ I 2��� !� !$"$ #$ !�# #$ � 2���, �����#�!$�$� 2���"�� #$

*������$( �$�*$!��+ !�$)�$�$� �$#��#���$� �$���"�"��( ��$ ��"�" #$ � � �� #�������

D�����& ����� )� �$#�$ #����$ !�+���$ ����$" '�!-� � ��$ *���2�" #$�$!��� )� !��$!���

���� $���� !��$ �*�� "� ���������� #��$"�� *$ 
� %&������, 
��� *$������$� !�+���$"�� #$

!�# �$ �2��� !�#��� $!0�+�"$��$( !� �!$$�)� +�"���$ � #������$� D�����& �����$ '���$

!�+���$"$ #$ !�#, 	$ ���"�%$�% ��� �"$� !�#���"$ ����������� *$���� !��$ !�+-���" #$

������$ $��$ *���$ !��*��$�� � !�+-���"�� #$ !�#( ��$ "� '�!$*���"( ��$ "� ��-�)���"

�!$�����, 8� �!$�� ��#( �� ��� $��$ �$!$��� �� !��!��� #$ #$!�#��$ '� �$!$*���( 2���� #$

#��$ ����# !�"$)� #��$!� #�� �$���"�" �$!$*������, 	$ ���"�%$�% '� �!$�� !�% #��� 2"�!�" #$

#$�$!��$ )� !��$!��$ � $����"��,

8� &$�$��"( *$���� ���!$ ��� � � '���$& ( *�%���+( �$��"( $4��� �� !�# D�����&

#$ #��$������1 , 	$ *�$�$� ��"����$� !�#���"�� !� *����$��� �H(2m − 1, 2m − 1 − m)
��*�� '����!-� '� �!$�� !�% ��$�$"$ #$ #$!�%�$ ���� #��F��!�$ )� �$ *�� !��$!�� t = (m-1)/2

erori . 
�#���"$ !� *����$��� � *�� ���� ���"$ '� ����$�$"$ ��J .'������
� ��(����/,


������!��� !�#�"�� *���$ �� �$�"�%�� ��������
 '������ !-�* ���$��! �����(

!-�* ��"��� 2����( �=.</,

	$ �!��$ ������" �������� �� 
������� D #$ #��$������ ( �+-�# *$m × (2m − 1)
!�"���$ ����$ !��2������"$ 2����$ �$��"$ #$ � 2���( $+$����" '� ��#��$ !�$�! ����$ �
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*��#$��"��, 
$���� *���$!���$� ���� !�# ����$����!( *���$"$ � !�"���$ �"$ �����!�� D

��$2��$ � ����$%$ �����!$� ������$ .�#$������$/ �� 1

.�3,:@/H = [Im P]
)������� *���������� � � !�#�"��( #$�$������ #�� !��#����1 ( .��HGT = 0

�$�����! �����*��� �����!�� �/( +� �� #$ �����1

.�3,<7/G = [PTIk]
3$!����" !�#�� � �$ �2���$ #�� *��#���" +$!����"���"���$ �" #��$"�� � .#$ I 2���/

)� �����!$� &$�$������$1

.�3,<:/c = aG

	$���"�" �$!$*������ $��$ #�+�%�� '� 2"�!��� #$ "��&��$ � ���-�# !� ��$!��$

#����$ �!$��$� � ��$ !��$!��� ��"����# ������	
 ������� !�"!�"�� !� �$"����1

.�3,<</s = HrT = H(cT + eT) = HGTaT + HeT = HeT

.� � +$!����" �$!$*������+ � � +$!����" #$ $����$/,

��! +$!����" �������� �� � ���� ��$!��� #$ $���� .+$!��� #$ $���� ��"/ ����!�

�$%�"� +$!����" ���#��� ��", 8� !�%�" $4���$��$� ���� $���� #$ ���������$ +$!����" ���#���

#$*��#$ #��� #$ +$!����" $����"�� .�$��" *$ *�%����"$ !��$�*��% ����$ $����"��/ ����#

��#$*$�#$�� #$ +$!����" #$ #��$,


��� !�#��$� ������� !��2������"�� 2����$ #$ I 2���( #$ ������$ '� !�#��( �$ �2���$

�� ��2$" #$ !�#��$ !� #��$������ �$%���2�"$ '� !��*�����$ !� ��2$"$"$ !��$ ���� �2���$

*��� !�#��$� �$$#�	�"����,

  	$ *���$ �$�"�%� !������!��� !�#���"�� D�����& )� '� +������� *�"������" !-�#

�$ ���!��% ��$! ��� !�+-��( #$ ������$ ��� #$ !�#( �� �� +$!���( !� �� *�"���� '� +����2�"�

� .�*$������" #$ '��-�%�$�$ !� �� 2��/ ��� '� "�!�" �����!�� &$�$������$ �$ ��"��$)�$ ��

*�"���� &$�$�����, �$��#� #$ *���$!���$ �����!��" )� !$� *�"������" ���� $!0�+�"$��$,

��#��$�$�� #$ �$��#� ��"���� ( �*$�����"$ #����$ !�$��!�$��� �$ $�$!��$�% '� �=.</,

��������	 *���$!� � !�#�" D�����& D.9;?/ '� +������� ����$����! ,

���$ �� !�# !� ���� #$ !�#��$ ?E9( !��$!��� #$ � $����$ '������ 2"�! #$ 9 2���,

�����!�"$ #$ *������$ )� !$� &$�$������$ ����1

H =







1 0 0 0 1 1 1
0 1 0 1 0 1 1
0 0 1 1 1 0 1







; G =













0 1 1 1 0 0 0
1 0 1 0 1 0 0
1 1 0 0 0 1 0
1 1 1 0 0 0 1












;


�#��$� !��2������"�� *���2�"$ #$ ? 2��� �$ ��!$ �*"�!-�# �$"���� .�3,<:/,
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$���� ������$ � = .7 : 7 7/ �2���$� +$!����" !�#�� � = .: 7 : 7 : 7 7/ �#�! 

*����� C 2��� ���� !$� #$ *������$ ��� �"����� ? ���� !0��� 2���� #��$"��, 	���"�� �$

#$�$���� 2���� #$ *������$ *$���� ���!$ �"� !��2�����$ #$ ������$, 
�#��$�(

�$�*$!��+ #$!�#��$� �$ +�� ��!$ *$ 2�%� ��2$"�"�� �3,<,

��! �$ �$!$*����$�% +$!����" � = .: 7 : : : 7 7/ !� � $����$ #$ ���������$(

+$!����" ���#��� $��$ � = .7 : :/ )� �$ �2�$�+ ! �$*�$%��� !�"���� � *���� #��

�����!$� #$ *������$, �$!� +$!����" #$ $����$ $��$ � = .7 7 7 : 7 7 7/,

3$!����" !��$!��� �$ �2���$ *��� �����$� '� �=.</ � +$!����"�� �$!$*������ !� !$"

#$ $����$1 � = . : 7 : 7 : 7 7/, ���$"$ ��������$ ���� !�"$�$ #$ *$ �"���$"$ *����

*�%����1 7 : 7 7,

"���
	
 #$�� 
�# D�����& D.9;?/
B��� #$ *������$ B��� #$ #��$

777 7777

::: 777:

::7 77:7

77: 77::

:7: 7:77

7:7 7:7:

7:: 7::7

:77 7:::

7:: :777

:77 :77:

:7: :7:7

7:7 :7::

::7 ::77

77: ::7:

777 :::7

::: ::::

����� ������ !����"������


�#���"$ �$$#�	�"���� .�	/ ���� ��&���%��$ *$ 2"�!��� #$ 2��� !$$� !$ ��!$

�$!$��� !������!��� "�� '� !-�* �"&$2��! �����,
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�!$��$ !�#��� �$�"�%$�% !��$!��� $����"�� !��$ ��$!�$�% &"�2�" ���2�"���"$ #$

#��$ #$!� '�2�� � �$�! *��2�2�"����$� #$ $����$ #$ ���2�" )� ��*"�!�� *$ !$� #$ 2��, �$)�

�� � !��*"$4����$ ��� ���$ '� !��*�����$ !� !�#���"$ D�����&( !�#���"$ �	 ���� ���

*$��������$ )� ���� ���"�%��$ *$ �!�� "��& '� ����$�$"$ #$ !�����!���� #�&���"$,


�#���"$ �	 �$ #$���$�! *$ 2�%� �=� #�� !-�*�" #$ #$������$ � !�#�"��, 8�

!�%�" !-�*�"�� !��*"$4 !�$)�$ ��� ��" #$ 2��� �$!$���� $4*��� ��� $"$�$��$"�� '� 2����

��� *�$!�%�� #$ !�"!�" �!�#$ )� �*�� $���� #$ #$* )��$ ��$� � ��� �*$����$� #$ !�����%��$,

���������� �� ��� ,-'�+ �.��( !��$!��� #$ � $���� $��$ #$����� !� ����# �$��"

������� +$!����"�� � #$ "��&��$ � !��$ �� �� !��*��$��$ �*$!���"$ ��"$( �$�*$!��+ ��

$"$�$��$ �"$ +$!����"�� �2����� *��� �*"�!��$� �=� +$!����"�� #$ #��$ ���� %$��,

	$ *�$�$� !� ��"���"$ �*$!���"$ � ��$ *"����$ &��*�� "� '�!$*���" ��� ��-�)���"

+$!����"�� �2����� *��� ������������ =����$� #��!�$� *$���� ���*"���!��$� *��!$#���� #$

!�#��$,


�#��$� �	 *���$ �� �$�"�%�� ��$ '� +������� �����!��" ( *$ 2�%� !�"!�"�"��

�����!��" �" �=� )� ��=�( !� +$!���� #$ ������$ )� #$ !�#( ��$ '� +������� *�"������" !�

*�"�����$ ���!���$ +$!����"�� #$ ������$( +$!����"�� !�#�� )� !� �� *�"���� &$�$�����,

�+����F�" *���$!� ��� !�#���"�� �	 '� !-�* !��*"$4 $��$ �!$"� ! �� �*��

�$����!��� '� !$ *��+$)�$ #��$������"$ +$!����"�� *$���� !�"!�"�" �=� )� ��=� �)� !�� �$

'��-�*" '� !-�*���"$ ��"���,

��#��$�$�� #$ #��$������"$ !-�*�"�� �"&$2��! '� !��$ �$ !�������$)�$ !�#�"( $4��� 

��$� �$��#$ #$ *���$!���$( ��� #��$!� ( �����!��" ( *"$!-�# #$ "� #$������� !�#�"��( )� #�� 

��#��$!�$( *�"������"$( "�!�-�# '� #��$���" ���*( *$ 2�%� ���� *�"���� &$�$�����, ���� �

���&�� �$��# ���&�� !������!��� ���� !�# ����$����!,


$��� !�#���"$ �	 �� �$ �!��� ��2$"$ #$ !�#��$ '����!-� �!$��$� �� �+$�

#��$������ ��"� *�$� ����,

)�����
� �� ������ ,- ���� ��� ����$"$1

�, %������ /� ������	
 ���������

	$ ��*�� +�"���"$ !��*��$��$"�� +$!����"�� �*$!���" )� *��� �*"�!��$�

�����������$� =����$� #��!�$�$ ��+$��$ .��=�/ �$ �2���$ +$!����" #$ !�#, 3$!����" �*$!���"

�$%�"� #��$!� #�� +$!����" #$ #��$ *��� !��*"$���$� �!$����� !� <� %$����� .%��������
����

                                                                    (IV.23)Cj =





aj , j = 0, n − 2t − 1

0 , j = n − 2t, n − 1





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��#$ �	 ���� !��*��$��$"$ +$!����"�� #$ ������$,

3$!����" #$ !�# $��$1  

 .�3,<?/c = IDFT(C)

    .�3,<�/ci = Σ
j=0

n−1
Cjωn

−ij
, i = 0, n − 1

��#$ $��$ � # !��� #$ ��#�� � � ���� ��� #�� !-�*�" ���$��! !��*"$4 ��� '� �=,ωn

"#���
�$

� �!$��� �$��# �� *$����$ �2���$�$� ���� !�# ����$����!, ����$

�*$�����"$ '���$ !�$��!�$��� ���� !$"$ ���$��$( #$ �����$ )� ��"��*"�!��$( #$�����$ '�

!-�*�" '� !��$ �$ "�!�$�% .!��*"$4 ��� ��"���/, �$ ��$�$�$�( �=� ��$

*����!�"���� �� #$ �*"�!��$ '� !�%�" !���������� !�#�"�� '� �=( !-�# �$

�$����!����$�% #��$������"$ !�#�"�� '� ���!��$ #$ $4���$��� ��$� � # !��� �

���� ��� #$ �� ������ ��#��,

B, %������ /� ������	
 ���


	$ ���!��% +$!����"�� #$ ������$ �� *�"���� 1

  .�3,<�/a = (a0, a1, ....an−2t−1) → a(x) = Σ
i=0

n−2t−1
aixi


� 4 ��� ����� ���������� �� )��*�%
��� �� �� �
�#��,

	$ !�������$)�$ *�"�����" &$�$����� �" !�#�"��( !� !�$��!�$��� 2����� .7 ��� :/( !�

<� %$�����1 , K$�����"$ ����$" �"$�$ *"��$�% ��"���"$ �*$!���"$ *$ωn
n−2t , ωn

n−2t+1, ....., ωn
n−1

�"���$"$ *�%���� �"$ +$!����"�� �2����� *��� �=�,

 .�3,<9/g(x) = (x − ωn
n−2t)(x − ωn

n−2t−1)....(x − ωn
n−1)


�"�����" #$ !�# �$ �2���$ ���*"� !� *��#��1

,c(x) = g(x)a(x)
�$��#� !��#�!$ '�����#$+ � "� �2���$�$� ���� !�# �	 #$���$!$ �*$!���"

+$!����"�� !�#�� ��$ <� %$�����1

.�3,<6/Cj = Σ
i=0

n−1
ciωn

ij = c(ωn
j ) = g(ωn

j )a(ωn
j ) = 0 , j = n − 2t, n − 1

�*$�����"$ '���$ !�$��!�$��� ���� !$"$ #�� !-�*�" #$ #$�����$ � !�#�"��,

	��2�"���"$ #$ #��$ �� �*�� $4*"�!�� '� +$!����" #$ !�#( #$!� �$��#� �� $��$

����$����! ,

%� )����� ����������� �� ������ ,-

	$ !�"!�"$�% *�"�����" #$ !�# !� �$"����1

.�3,<@/c(x) = x2ta(x) + r(x)
��#$ �.4/ $��$ �*���" �$���"�� '�* ������ *�"�����"�� "� *�"�����" &$�$����� &.4/,x2ta(x)
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����$ �*$�����"$ '���$ !�$��!�$��� �$ $�$!��$�% '� !-�*�" �"&$2��! #$ #$������$ �

!�#�"��,


�"�����" �2����� $��$ #�+�%�2�" !� *�"�����" &$�$����� !$$� !$ ���&�� 

$4���$��� !$"�� <� ��"��� �*$!���"$,

	$ �2�$�+ ! ���2�"���"$ #$ #��$ �*�� �$�!0��2��$ '� +$!����" #$ !�# *$

*�%����"$ !$"$ ��� �$�����!���+$( #$!� �$��#� $��$ ����$����! )� *$����$ � ��� ���*" 

��*"$�$����$ � #$!�#���"��,

"������ 1 �� !�# �	.�( ��<�/ *���$ !��$!�� � $���� #$ ���2�",

	��������$
�1


������ #$������$� !�#�"�� �	 $4��� <� ��"��� �*$!���"$ *$���� ���!$ !�+-�� #$

!�#,

Cj = 0 , j = n − 2t, n − 1

�*"�!-�# ��=� �$ �2��� !��*��$��$"$ +$!����"�� #$ !�# 1

ci = K Σ
j=0

n−1
ωn

−ij
Cj = KC(ωn

−i) = K Σ
j=0

n−2t−1
Cjωn

−ij
, i = 0, n − 1

.K = 1/n '� !-�*�" !��*"$4; K=1 '� !-�* ��"���/,

8����!-� 
.4/ $��$ #$ ��#�� .��<��:/ )� ��$ #��� .��<��:/ %$����� �$%�"� ! !$"

*���� .2t +1/ !��*��$��$ �"$ ���! ��� !�+-�� #$ !�# ���� �$��"$,

������� "������� ��� �����������$� =����$� #��!�$�$( #��$�$��� ���! ��� #�� !�+���$

#$ !�# $��$ #$ ��$�$�$� !�+-�� #$ !�# #$!� !�����$ !$" *���� .2t+1/ +�"���

�$��"$ )� #������� D�����& '���$ $"$ $��$ #$ !$" *���� .2t+1/ ���2�"��� !$$� !$

*$����$ !��$!��� � � $���� #$ ���2�",J,�,�,

��������� ,- �$ �$�"�%$�% !� �"&������ #$ !�"!�" � +$!����"�� #$ $����$ !�

��� � ����� #$ !��*��$��$ �$��"$ �+-�# <� !��*��$��$ �*$!���"$ !����!��$ "�

�$!$*��$1

.�3,C7/r = c + e ⇒ Rj = Cj + Ej = Ej ∀ j = n − 2t, n − 1

 
*�����	
 �� ����������� � �0" � �	����	
	� �� ������

=�$ *�"�����" #$ $����$ �.4/ )� �� *�"���� �.4/ #$ "�!�"�%��$ � $����"�� .&��#

��4�� = �/ �$!����!��1

.�3,C:/L(x) = Π
i=1

t
(1 − xωn

ki)

��#$ I � �$*�$%��� *�%����"$ ���2�"���"�� $�����$,

��! 1 $��$ +$!����" !�$��!�$���"�� *�"�����"�� �.4/ #$ #��$�����$ �( *��� !���
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*"$���$ !� %$����� )� *��� �*"�!��$� ��=� �$ �2���$ +$!����" 
 ����!�1

l i = K Π
j=0

n−1
ωn

−ij
Lj = L(ωn

−i) = K Π
j=0

n−1
(1 − ωn

−iωn
ki) = 0 , ∀ i = ki ⇒

.�3,C</l iei = 0 ∀ i = 0, n − 1 ⇒ L(x)E(x)modulo(xn) = 0


��#���" *�"�����$"�� $��$ $!0�+�"$�� !� � !��+�"���$ !��!�"�� � +$!����"��

���!���� "��1

.�3,CC/L0Ej + Σ
k=1

t
LkEj−k = 0 ⇔ Ej = −Σ

j=0

n−1
LkEj−k , j = 0, n − 1

�"���� �$"���$ #$�!��$ �� ��"��� �����$&�$��+ .��/ !� � !�$��!�$���, ��! �$

!����! !$"$ <� !��*��$��$ �"$ +$!����"�� 2 ����!� #�� �$"���� .�3,CC/ �$ �2���$ �� ����$�

#$ <� $!����� !� <� �$!����!��$ !��$ *$����$ #$�$������$� !�$��!�$���"�� *�"�����"�� #$

"�!�"�%��$ � $����"��1

.�3,C?/En−k = −Σ
j=1

t
LjEn−j−k , k = 1, t


��� !����)�$�$� +$!����"�� 1 �$ *�� #$�$����� �$!����+ #�� �$"���� .�3,CC/ ����$

!��*��$��$"$ +$!����"�� 2 )� �*�� �"$ +$!����"�� %� 
��� �*"�!��$� ��=� �$%�"� +$!����"

#$ !�# �������� )� !��$!���,

"#���
�$
�� 	���$��" .�3,C?/ *���$ �� �!��� '� ���� $!0�+�"$�� �����!��" 1

.�3,C�/−







En−t

.....
En−1








=







En−t−1 ... En−2t

... ... ...
En−2 ... En−t−1















L1

...
Lt








	�"�������$� �!$���� ����$� �$!$��� !�"!�"�" ��+$��$� ��$� �����!� #$ ��* ��$*"��%

.!� $"$�$��$ �#$���!$ *$ ��2#��&���"$"$ *���"$"$ !� #��&���"� *���!�*�" /( !��$ �$ *���$

$�$!��� !� �"&������ ��*�%�( ���"�%��� ��$!+$�� '� *��!$���$� #�&���" � �$���"$"�� '�

*���$!���$� ��"��$"�� �� )� '� #��$���" ���"�%$� �*$!���"$ � �$���"$"��,

�������� 	 �$�"�% � !������!��� '� �=.6/ � !�#�"�� �	.9; �/ !��$!��� #$ �

$����$ #$ ���2�" '������ 2"�! !�#�� #$ "��&��$ 9,

n = 7; n − 2t = 5; R = 5
7; m = 3.

	$ ���"�%$�% !� � # !�� � ���� ��� #$ ��#�� 91 ,ω7 = 2

�"�����" &$�$����� �" !�#�"�� $��$1
g(x) = (x + 25)(x + 26) = (x + 7)(x + 5) = x2 + x(5 + 7) + 5 ⋅ 7 = x2 + 2x + 6

8����!-� �$ !�#$�% 2"�!��� #$ :� 2��� *��� !�+���$ #$ !�# #$ <: #$ 2���( ��2$"�" #$

!�#��$ �� ��$2�� � !�*���# <
� .C<9�6/ "����, ����$" !�#�" �	 �� *���$ �� �*"�!��(

��$�$�$� �"��� !�#����2"�!( *$ 2�%� !��������"�� ���� �$�����( !� ��"����#���$

�"&������ *$���� !�"!�"�" !�+-���"�� #$ !�# ���!��� ��$! ��� !�+-�� #$ ������$,
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	 !�"!�" � +$!����" !�#�� *$���� �$!+$��� #$ ������$1 < C 7 : ?( *��� �$��#�

�$����$����! #$ !������!��$ � !�#�"�� �	 '� #��$���" ���*1

a(x) = 2 + 3x + x3 + 4x4;
c(x) = a(x)g(x) = 7 + 5x + 4x2 + 5x3 + 7x4 + 2x5 + 4x6.

�$!� !�+-���" #$ !�# $��$1 9 � ? � 9 < ?,

�$!�#��$� �$ +� ��!$ ���*"� *��� '�* ����$� *�"�����"�� +$!����"�� �$!$*������

"� *�"�����" &$�$�����, 
��$!��� $����"�� �$ �$�"�%$�% '� �"� 2"�! �" #$!�#���"��,

8� +������� ����$����! �$ �2���$1

r(x) = R{ x2ta(x)/g(x)} = 1 + 4x.

�$!� �$!+$��� !�#�� ����$����! $��$1 : ? < C 7 : ?,

������ #��$���
�%��� �������������� �������
�� �� �����


$��������$"$ !�#���"���2"�! !��$!����$ #$ $���� �$ $4*��� *��� #��$����

*����$���,

�� #$!�#�� !��$ !��$!�$�% �� ��� � ��4 #$ $���� �$ ���$)�$ ������� �	

�������� 
�������� 8� !�%�" �*�����$� ��� ��"��� $����( '� ���!��$ #$ ��#�" #$ *���$!���$ �"

#$!�#���"��( �!$��� *���$ � �$���"$%$ �*������ ���� �$��F ��!��$!� .��*���2�" #$

!��$!���/( !�� $��$ !�%�" ����$�$"�� ��J .'������
� ������ ����� ��(����/,,

��! ���������� #��$"�� �$ ��!$ *$ �� !���" #$ ���������$ #��!�$�( � � �$����$(

*$��������$"$ !�#�"�� �$ $4*��� '� �$��$��� *��2�2�"�� ��� #$ $����$ "� �$)��$�

#$!�#���"�� '� ���!��$ #$ *��2�2�"����$� #$ $����$ � ���2�"�"�� *$ 
�,


�$%��� ���$�$� #$�$������$� ��� ����$"�� � ����1

➊ 
��2�2�"����$� #$ $����$ � ���� 2"�! #$ ���2�"���;

➋ 
��2�2�"����$� #$ $����$ � ���2�"�"�� #$!�#�� ;

➌ 
��2�2�"����$� ��*���2�"�� ��� $�$!�� ��� #$!�# ���,

�$���$!$ �� 2"�! $����� !�����$ )� ���2�"��� !��$!�$( *��2�2�"����$� #$ $����$ #$

2"�! $��$ ��� ���$ #$!-� *��2�2�"����$� #$ $����$ #$ ���2�",

"������� 
$���� �� !�#�2"�! !��$!��� #$ � $���� ���"�%�� *$ �� 
� #��!�$�( � � 

�$����$( *��2�2�"����$� #$!�# ��� !��$!�$ #$ 2"�! $��$ #�� #$ �$"����1

.�3,C�/Pc = 1 − Pe = Σ
i=0

t
Cn

i pe
i (1 − pe)n−i



�
�$*�$%��� *��2�2�"����$� #$ $����$ #$ ���2�" *$ 
� )� � $��$ "��&��$� 2"�!�"�� !�#��,
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��
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L������!��$� �!$��$� �$��$�$ $��$ $+�#$�� ���-�# �$��� #$ ��� ��" !�%���"��

*���2�"$ !� !$"$ � $���� � ��$!�$%$ 2"�!�" #$ � ���2�"��� !-�# !$" ��"� � $���� ���� !��$!�

��2�"$,

8� !�%�" '� !��$ *��!$��" #$ ���������$ $��$ ��$!��� #$ %&���� �#���+( �"2(

&������� .�M�� �'��
�

� +�
�� �����
�� ,�
��/( *��2�2�"����$� #$ $����$ �$ $4*��� 

'� ���!��$ #$ ��*����" #$ *��$�� �$���"E%&���� �" �$���"�"�� ���"�&�! ��������1

� ��*����" *��$��"�� �$���"�"�� ���" )� � %&�����"��;
Eb

N0

� � � $�$�&�� �$#�$ � ���� 2�� #$ ���������$ "� �$)��$� ����$�;
Eb = n

k
Ec

��#$ �� $��$ $�$�&�� �$#�$ �$!$��� ��������$��� ���� 2�� *$ 
�,

�� #$��#�"���� *���$!��� *$���� � $"����� ���"�$��� �M�� �$ !���!�$��%$�% 

*��� ��3��*	
 �� ������ .���
�� ��
�/ !��$ �$ #$���$)�$ !� #��$�$��� .$4*����� '� #B/

#����$ ��*����" 	E� �$!$��� �2���$��� ��$� ������$ +�"��� � *��2�2�"�� ��� #$ $����$ "�

�$)��$� #$!�#���"��( '� *�$%$��� )� �$�*$!��+ '� �2�$��� !�# ���, �4*$���$���" ��� !��������

! �!$�� !-)��& #$ !�#��$ �� *���$ �� ���!-� #$ ��"� !�$�!�� �#�! *$��������$"$ !�#���"��

�� �$ ��� '�2�� � �$�! �$�����!���+( �$�*$!��+ *��$�$� #$ $����$ �$!$��� �� ��� �!�#$

��"�( *��� ��"����$� ���� !�#��� ��� !��*"�!��$, �4��� �)�#�� � +�"���$ ����*����! �

!-)��&�"�� #$ !�#��$ *$���� +�"��� ���� �"$ ��*����"�� 	E�( *$���� !�%�" '� !��$ !�#�"

���#$ � !��$!�$%$ ����$ $����"$ *���2�"$,

8� �$�"����$( *��$�$� #$ $����$ $��$ "������ ( #$!� �� �$ �2���$ !-)��&�" ����*����!

#$ !�#��$ ��� *��2�2�"����$� #$!�# ��� $�����$ $��$ ��� ���$ #$!-� !$� $������ ,


��� #$������$( ��3��*	
 ����
����� �" ���� !�#�2"�! !��$!��� #$ � $����( !� ���� #$

!�#��$ �( ��$ $4*�$���"$1

◆ *$���� #$!�%�$ 0��#1 G = (t +1)R .�3,C9/

◆  *$���� #$!�%�$ ����1 G = (2t +1)R .�3,C6/

"#���
�$
�� 
-)��&�" #$ !�#��$ ��$ �$�����!���� !�$)�$��� ������!��"$ � *��$���

�$���"�"�� ���"( �$�*$!��+ � $�$�&�$� #$ 2��( #$���$!$ *��� ��"����$� ���� !�#

!��$!��� #$ $���� �!$$�)� *��2�2�"����$ #$ $����$ "� #$��#�"���� �$ �2���$ !� �

*��$�$ #$ $����$ ��� ��! ��� #$ !�%�" �$�*"�! ��� !�#�"��,


$���� �� #$��#�"���� !�$�$�� B
	N *�"��( !� #$!�%�$ 0��# )� !�# !��$!��� #$ �

$����( $4*�$��� *��2�2�"�� ��� #$ $����$ $��$ [B"�@7]1

.�3,C@/Pe ≅ Cn
t+1Q

 R(t + 1)2Eb

N0




��#$ J.4/ $��$ ���!��� �����" #$ $����$1

�������� 	
��

���� � 	�	���� �� 
�����
���� �������� 6<



.�3,?7/Q(x) = 1

2π ∫
x

∞
Exp

 −y2

2

 dy

��� $�$�&�� $!0�+�"$�� � ���� 2�� �������� $��$1

.�3,?:/Eb = GEb = R(t + 1)Eb

8� !�%�" #$!�%�$� ����( !-�# #$��#�"�����" �$��������$ #��$ #$!�#���"�� )�

�!$��$� !�����2��$ "� !��$!���$� ���� $���� �"�$�����$( !-)��&�" #$ !�#��$ !�$)�$ ��� #$

!�%�" #$!�%�$� 0��# � � �$�!��$,

8� !�%�" ���������$� ��#$*$�#$��$ � 2���"��( +�"���$� 
������
������ �� ������

�� ��� .B�� � -
������������/ $��$ ��� ���$ #$!-� *��2�2�"����$� #$ $����$ #$ ���2�"

��*����� "� "��&��$� 2"�!�"�� #$ 2���,

	 ���"�% � *$��������$"$ !�#���"�� D�����&, 8� ��2$"�" �3,C ���� �*$!���!��$

*��!$����" !�$)�$�$� �$#��#���$� �$���"�"��( !�*�!����$� #$ #$�$!��$ �$�*$!��+ #$ !��$!��$

� $����"�� *$���� ��$!��$ !�# '� *���$,

"���
	
 #$�4


$��������$"$ !�#���"�� D�����& D.�;I/


����$��
�

���&��$
�

�$!+$��$�
!�#��$

���&��$
�

�$!+$��$�
#$ ������$

��� ��"
#$ $����
#$�$!�
��2�"$

��� ��"
$����"��
!��$!�
��2�"$


�$)�$�$�
�$#��#���

�$�


�*�!����
$ #$

#$�$!��$ �
$����"��


�*�!����
$ #$

!��$!��$ �
$����"��

� � I # ! (%) (%) (%)

C 9 ? : : 9�(77 :?(<@ :?(<@

? :� :: < : C�(C� :C(CC �(�9

� C: <� < < :@(<C �(?� �(?�

� �C �9 C < :7(�C ?(9� C(:9

9 :<9 :<7 C C �(6C <(C� <(C�

	$ �2�$�+ ! '� !�%�" !�#�"�� D.9;?/ �$ �2���$ !�*�!����$� ��4�� #$ #$�$!��$

)� !��$!��$ � $����"�� #�� !�$)�$�$� �$#��#���$� $��$ #$ ��$�$�$� !$� ��� ��#�!�� #����$

����$ !�#���"$, �� !��*����� �!!$*��2�" '���$ #��$����� *����$��� �� !�#�"�� $��$ �$�"�%��

'� !�%�" !�#�"�� D.:�(::/( #$�$!��� #$ $���� #�2"$( !��$!��� #$ � $����$, 
�#���"$

D�����& *�� �� ��"����$ '� ���������� !� %&���� �#���+( &�������( *$���� !��$!��� ����

$���� �"$���� ��*"����$ '� �$���"( #�� �� )� '� !�%�" ����������"�� !� ��#��&( !-�# �*��

&��*��� #$ $���� .������#����/ #$ #��$���$ "��&���,

�������� 	
��

���� � 	�	���� �� 
�����
���� �������� 6C



8� ��&��� �3,< ���� �$*�$%$����$ &����!$"$ *��2�2�"�� ��� #$ $����$ #$ 2�� �

#$!�#���$"�� D�����& !��$!����$ #$ :; < �$�*$!��+ C $����( '� ���!��$ #$ *��2�2�"����$�

#$ $����$ #$ 2�� *��*��$ !���"�"�� #$ ���������$ ��$!��� #$ %&���� �"2( �#���+( &�������,

	$ �2�$�+ ! *$���� � *��2�2�"����$ #$ $����$ #$ 2�� *$ 
� #$ :7�
 ( #$!�#���"

���&�� � ��� #$ $����$ #$ 2�� #$ :7�� '� !�%�" !�#�"�� D.9;?/( �$�*$!��+ #$ :7�� pentru

H(127;120).


$��������$ ��*$�����$ #$ !��$!��$ � $����"�� �$ �2��� *��� ��"����$� !�#���"��

�$$#�	�"����( #$��$2�� #$ *��$���!$ !��*�����+ !� !$"$ D�����& )� !$"$

!��+�"������"$, �$!�#���$"$ �	( ��*"$�$����$ !� *��!$����$ #$#�!��$ *$���� !-�*���

��"���( *�� "�!�� '� ���* �$�"( "� +��$%$ ���� #$ ���������$( !$$� !$ "$ �$!����# *$����

���"�%��$� '� ����$�$"$ #$ ���������$ � #��$"�� #$ ���$ +��$% ( !� *�$!�%�$ ��#�!�� , �$

��$�$�$� �!$��$ !�#��� *�� �� ���"�%��$ '� !�%�" ����������"�� !� ��#��& �+-�# !�*�!����$�

#$ !��$!��$ � ���� &��*��� ���� #$ $���� .������#����/,

8� ��2$"�" �3,? ���� *�$%$����$ *$��������$"$ ���� !�#��� �	( !��$ �� !�*�!����$

#$ !��$!��$ � $����"�� #$ *$��$ �O )� � !�$)�$�$ � �$#��#���$� #$ ��4�� �7O

.!��$�*��% ��� ��$� ���$ #$ !�#��$ :E<1 ���������/, �$��$2�� #$ *��$���!$ ���� !�#���"$ �	

!��������$ '� �=.<��/( !� ���2�"��� $4*�����$ *$ 6 2���, 

�������� 	
��

���� � 	�	���� �� 
�����
���� �������� 6?

=�&, �3,< 
��2�2�"����$� #$ $����$ #$ 2�� � #$!�#���"�� D�����&
���!��$ #$ *��2�2�"����$� #$ $����$ #$ 2�� � 
�



"���
	
 #$�5 
$��������$"$ ���� !�#��� �$$#�	�"����

�	.�;��<�/ #$�����$ '� �=.<�/ .� = C;?;�;�;9;6/

��� ��
" #$ 2���
#�������
���2�"

���&��$�
�$!+$��$�
!�#��$

(���2�"���)

���&��$�
�$!+$��$�
#$ ������$

(���2�"���)

��� ��" $����"��
!��$!��2�"$
�.���2�"���/

2.2��� !���$!���+�/


�$)�$�$�
�$#��#���

�$�
.O/


�*�!��
���$� #$

!��$!��$ �
$����"��

(%)

��� ��"
#$ 2���

#$ �$)��$

m n k = n-2t t b r γ ��

C 9 � : : ?7(77 :?(<@ <:

? :� :: < � C�(C� :C(CC �7

� C: <9 < � :?(6: �(?� :��

C: <� C :: <?(77 @(�6

C: <C ? :� C?(96 :<(@7

C: <: � <: ?9(�< :�(:C

� �C �� ? :@ :?(�� �(C� C96

�C �: � C: <C(�C @(�<

�C ?9 6 ?C C?(7? :<(97

�C ?� @ ?@ ?7(77 :?(<@

�C ?C :7 �� ?�(�: :�(69

9 :<9 ::: 6 �7 :?(?: �(C7 66@

:<9 :7C :< 96 <C(C7 @(?�

:<9 @� :� :7� CC(�6 :<(�7

:<9 6� <: :?: ?@(?: :�(�?

6 <�� <<C :� :<: :?(C� �(<9 <7?7

<�� :9: ?< C<@ ?@(:< :�(?9

"#���
�$
�1 
$���� ����������"$ !� ��#��& $��$ �$!$��� !��$!��� ���� &��*��� #$

$���� !� "��&��$ !��$ #$*��#$ ��-� #$ #����� ��4�� � ���$�+�"$"�� !� ��#��&(

!-� )� #$ +��$%� #$ ���������$ � #��$"��, 8� ��2$"$"$ !�����-�# !�#���"$ �	 !$"$

��� *$��������$( $��$ !�"!�"�� ��� ��" ��4�� #$ 2���( �$�*$!��+ #$ ���2�"���

!���$!���+$ !��$!��2�"$ *�������� ����$ !�#,

%��3����� �������	��
�� ���	
	� ����	�� 
� � ��
������� ��� ���� ��

�������� � *�	
	��
�� �� ����� '���������	
(� ���� 
����� ���3����� ������� ��

���������� 3� ���	����� ����*��� ����� /� ���	
 ����������
�� ��*���
� �������� ��

�����*�

�������� 	
��

���� � 	�	���� �� 
�����
���� �������� 6�



�$ $4$�*"�( *��� ��"����$� !�#�"�� �	.:<9( @�/ �$ *���$ !�$)�$ #$ #�� ���

+��$%� #$ ���������$ � #��$"�� ��� #$ !�%�" ���"�% ��� !�#�"�� �	.:<9(:::/( '� �!$"$�)�

!��#���� #$ %&���� �#���+( ��#��&( "� �!$$�)� $�$�&�$ #$ 2��( !� �!$$�)� *��2�2�"����$ #$

$����$ .B��/,

�������� 	
��

���� � 	�	���� �� 
�����
���� �������� 6�

.�/

.2/

=�&, �3,C 
��2�2�"����$� #$ $����$ #$ 2�� � #$!�#���"�� �	 ���!��$ #$
*��2�2�"����$� #$ $����$ #$ 2�� � 
� ��$!��� #$ %&���� �#���+( *$���� �



=��!���"$ #$ *��2�2�"����$ #$ $����$ #$ 2�� *$���� �$)���"$ #$!�#���$"�� �	 ����

�$*�$%$����$ &����! '� ��&��� �3,C, 	��� !��*����$ *$��������$"$ !�#���"�� !��$ !��#�! "�

�!$$�)� !�$)�$�$ � �$#��#���$� �$���"�"��,

	$ �2�$�+ ! *$���� � ��� #$ $����$ #$ 2�� *$ 
� #$ :7��( #$!�#���" ���&�� �

��� #$ $����$ #$ 2�� #$1

◆ :7�� *$���� !�#�" �	.C:;<9/; :7�
 *$���� �	.�C;��/; :7�� *$����

�	.:<9;:::/;)� #$ :7�
� *$���� �	.<��;<<C/;

◆ :7��*$���� �	.C:;<:/; :7�

 *$���� �	.�C;?C/,

8� ��&��� �3,? ���� *�$%$����$ &����!$"$ *��2�2�"�� ��� #$ $����$ � ����

#$��#�"���� #�&���" #$ ��% !� :� �� ��( !� *�$!�#�� �	 !� ��� #$ !�#��$ :1< .���������/,

	$ �2�$�+ !��*�����$� 2�� "� ��*����$ 	E� ��� ��!� #$ � #B *$���� !�#���"$

#$ ���� #��$������,

���& ������ �
����� �������
�� �� �����

8� !������� !� !�#���"$�2"�!( !�#���"$ #$ ��* P��2��$P .����������/ !�#$�% )���"

���2�"���"�� #$ ������$( !� '�!$*�� )� ��-�)�� �$#$�$������( '������ )�� #$ ���2�"��� #$

�$)��$,

�������� 	
��
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���� �������� 69

=�&,�3,? 
��2�2�"����$� #$ $����$ "�&������� � #$��#�"�����"�� :��
	N(
!� *�$!�#�� �	( *$���� ���������$ !� %&���� �#���+ &�������



���$�$� *��!��! *�$%��� ����� �!$"$ !�#��� !��$ *$���� ��*"$�$����$� !�#���"��

!� ������� !� ��� � ����� #$ �� ��, 8� �!$�� !�%( !�#���"$ �$ ���$�! ���	�� ���

���

�!$��$� *�� �� �$*�$%$����$ *��� #��&���$ #$ ��* P&��" P .�����
�/( #$�� )����$ '� ���*( !�

��� � ����� #$ ��#��� *$ ��$!��$ ��+$", �� !�# ��$""�� "����� �$ ���$)�$ ��� �����
	�����
,

A���" ���2�"���"�� #$ ������$ '� !�#�� $��$ '�* ���� '� �$&�$��$ #$ & ���2�"���

�����$ �����, 
�#���" �$���$�% �"���$"$ � !�#�$( �#�! �"���$"$ �& ���2�"��� #$

#��$ )� '� ���!��$ #$ �!$��$� )� #$ !�#��" !��$�� &$�$�$�% � ���2�"��� #$ �$)��$, ���!$

!��2�����$ "����� #$ �$!+$��$ #$ !�# !��+�"������" $��$ #$ ��$�$�$� �$!+$�� #$ !�#,

%������� �� 
���������� �$ $4*��� ����$"1

$��$ !�+-�� #$ !�#,∀ ��( �� !�+���$ #$ !�# ; ∀α (β ∈ � 1 α�� + β��
�!$��� !��#���$ �$ +$����! *$ ��$!��$ ��+$" #�� 5��$""��5,


�+���$"$ #$ !�#���2��$ ���� ������� "��&� )� �$ !��$�! *$ !�"$� #�� 5��$""��5

�*$!���!�� #$ �$!+$��� #$ ������$,

�*"�!����"$ !�#���"�� !��+�"������"$ !�*���# !�����!����"$ #$ +��$% ��! )�

�$#�$ '� ��*��� !� 2��#� #$ ���������$( #$ $4$�*"� ����$�$ #�&���"$ #$ ���������$ +�!�" ,

�$%�+����F�" ��F�� �" !�#���"�� !��+�"������"$ $��$ #�� #$ ��� ��" ���$ #$ �*$�����

$�$!����$ *$���� ��$!��$ 2�� #$!�#��( *��� �*"�!��$� �"&������"�� 3��$�2� '� !�% 2����

[Ber87], � *���2�" �*����%��$ � �!$���� �$0��!� #$ !�#��$ $��$ �$��#� #$ *���$!���$ � "��

'� !-�* ��"��� [Ugr93] ���"�%-�# ���2�"��� $4*�����$ *$ �� ��� � ��� ���$ #$ 2���,

�+�#$�� $��$ �$!$��� �*"�!��$� �"&������"�� 3��$�2� '� !-�*�" �"&$2��! ����� #$ #$������$ �

!�#�"��,

��! #��$�����$� !-�*�"�� $��$ < ����!� �+$� #$ � ��!$ !� !�#��� 2����$,


$���� ���*"����$� ��*"$�$�� ��� !�#���"�� )� � #$!�#���"�� �$ *�$�$� *���$!���$�
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=�&,�3,� 
�#�� 
.::(:7/

=�&,�3,9 
�#�� !��+�"������" 
.::;<7/ '� �=.?/



!�#���"�� '� +������� ����$����! , �� !�#�� !��+�"������" 2���� $��$ ��*"$�$���� !� ��"���

#�&���" !� ��� � � �$�!��$( !� !$"�"$ #$ �$����$ )� ��������$ ��#�"��< .$4$�*"�1

=�&,�3,�/, 8� &$�$��"( �� !�#�� !��+�"������" ��"����+$" ���"�%$�% ��������$ )�

��"��*"�!�����$ �*$!���!$ !-�*�"�� ��"��� #$ #$������$ � !�#�"�� .$4$�*"�1 =�&,�3,9/,

"#���
�$
�1 �����$� !�#���"�� �� �$ ��!$ '� ��# ���!, �� �#�*��� �$��#� !������

!�$��!�$���"�� ���� ��"�� '� ��������$ ��� '� �$)���"$ !�#���"��( '� ��#��$ !�$�! ����$ �

*��$��"�� �*$������"�� #$ '��-�%�$�$ .� ��� 4/,


$"$ #�� !�#���$ ��"����$ *$���� $4$�*"���!��$ ���� ����!���� �$�$!����+$,


�#���"$ !��+�"������"$ *�� �� ��*"$�$����$ '� +������ ����$����! ( ��"����#

����!���� #$ !�#��$ �$!����+$ .�	
 � ������

� ��������
� ����/ .��&, �3,6/, ����$" �$

$"���� ����!���� #$ #$!�#��$ * ���-�#���$ ����� 2"�!�" #$ !�����" �" $����"��,

"#���
�$
�1 �� '����#$���� *��� ����$����%��$ �$ �2��� ����!���� �$!����+$, ��

����� �!$��$ !�#���$ �$�$!����+$ �2�$+��� �	
 .����������

� ��������
�


��
����
���� ����/,

���&�� '�
������
 �
���
���( 
 ��������� ���)���%���
��

���"�%� !�#���"�� !��+�"������"$ �$ ��!$ !��2����( 4��� �$��#$ &����!$ )�

�����!��"$,

6��������� �����	
	��

I � ��� ��" ���2�"���"�� #$ ������$;

� � ��� ��" ���2�"���"�� #$ �$)��$;

�������� 	
��

���� � 	�	���� �� 
�����
���� �������� 6@

=�&,�3,6 	!0$�$"$�2"�! �"$ ���� !�#���$ �	
 )� �	
 #$�����$ '� �=



R = k/n � ���� !�#���"��;

� � ��� ��" !$"�"$"�� #$ �$����$;

� � ��� ��" #$ 2��� ���"�%��� *$���� $4*�����$� 2���� � ���2�"���"��;

 � ��� ��" �� ��"�� !��!����"��;s = mM

+ � 
	�*���� �� ��������*��� � !�#���"��( #$����� !� ��� ��" ����� #$

!$"�"$ #$ �$����$ �$!$���$ '� !��!���,

�������1 
�#���" 2���� 
.::(:7/ ��$ *����$����1

������$ $!0�+�"$�� 1 
.C;</,� = :; � = <;� = :E<;. = :;� = <; 
 = :,

���������� ��������
� � !�#���"�� !��+�"������"$ �$ ��!$ ��$ !� � �����!$

&$�$������$ !� $"$�$��$ *�"������"$( ��$ !� �����!� #$ ��* ������$��$)��$�����$ !�

!�$��!�$��� !��������,

���������� *������ � ���� ����$" #$ !�# �$ �$�"�%$�% !� #��&���$1

◆ #$ ����%���� .#$ �� ��/ ;

◆ #$ ��* P��2��$P;

◆ #$ ��* P&��" P .�����
�/,

���&���$"$ #$ �� �� ���� !��*"�!��$ '� !�%�" !�#���"�� !� ��� � ���$ #$ �� �� )�

!� !$" *���� #�� ���2�"��� #$ ������$, �$ ��$�$�$� #��&���$"$ P��2��$P ���� ��� *����

*��!��!$ '����!-� ��� ��" ��#���"�� #$ *$ �� ������ ��+$"( !�$)�$ $4*��$����" #$ "� ��

���$�� #$ ���* "� �"��", 
$"$ ��� $��!�$��$ ���� #��&���$"$ 5��$""��5 !��$ �� �!$"�)� ��� �

#$ ��#��� *$ ����$ ��+$"$"$ )� #$+�� *$���#�!$ #�* �� ��� � ����� #$ *�)�(

!��$�*��% ��� �$&���"�� ����%������, A� �!$��$ #��&���$ ���� #���!�"$ *$���� ��� ��"�$

!��2������ ������$�����$,

�$+��$ ���" '� �!$�� !�% �����!��$�$� ��$""���"�� ��2 ���� #$ ��2$" '� !��$ � �$

�*$!���!$ ����$ !��2������"$ *���2�"$ *��+��#1 ����$� !�#���"�� "� ���$���" !��$��(

!�+-���" #$ ������$( �$!+$��� !�#�� )� ����$� '� !��$ ��$!$ !��!����" "� ���$���" ��� ���,

���&� *�
��+
 ������� ���)���%���
� �� �
+
 �
������

�����
��
��

)������� *���������� � ���� !�#�� !��+�"������" $��$ ������ #�� I>�


�
������ *���������� �$�����!-�# !�����2���� ��$! �$� ���� �� "� ��$!��$ +����2�" #$

�$)��$1 .�3,?</�(�) = [� ��(�)] ( 
 = :( � ( / = :(�

�������� 	
��

���� � 	�	���� �� 
�����
���� �������� @7



,���$

1 � � �*$������" #$ '��-�%�$�$ !� �� ���2�"; ��� &�� � *�"�����" &$�$����� ���!���

���� ��� 
 )� �$)���� /( !� !�$��!�$��� �+-�# +�"��� #�� !-�*�" ��"��� #$ #$������$ � !�#�"��,

���&��$� #$ !�����-�&$�$ � !�#�"�� �$ !�"!�"$�% !�1

.�3,?C/
 = Σ
�=�

�

�
��4 [�������(�)]

8� !�%�" !�#���"�� ����$����!$( �����!$� &$�$������$ ��$2��$ � !����� �

��2�����!$ #$ ��* �#$������$ !� I "����1

.�3,??/�(�) = [0 1(�)]
	$ ���!��% ��$! �$� ���� �� !-�$ �� *�"����, ����$ �!$��$ *�"�����$ *�� ��

&��*��$ '������ +$!��� #$ ������$ !� $"$�$��$ *�"������"$1

.�3,?�/�(�) = [��(�)( ,,,,,(��(�)]

�$��!�$���� �!$���� *�"�����$ ���� ���2�"���"$ #$ #��$,

	$!+$��� !�#�� �$ �2���$ ���*"�1 .�3,?�/�(�) = �(�)�(�)

$���� !��$!��� $����"�� #�� �$!+$��� �$!$*������ ( �$ *���$ ��"��� �������� ��

������
 *$���� !�"!�"�" +$!����"�� ���#���1

.�3,?9/2(�) = [−1�(�) 0 ]
���������� �� !�# !��+�"������" $��$ ������������� #�! �������!$ �$"����1

!,�,�,#,!, .�3,?6/[	�(�)] = ��

��#$ � $��$ �� ��� � '���$& ���$!��$( 	�&�� ���� #$�$��������� ��2�����!�"�� #$

#��$������ I>I #�� �����!$� &$�$������$ � !�#�"��,

�+�#$��( �����!$� &$�$������$ � ���� !�# ����$����! !�����$ � ��2�����!$ #$ ��*

5�����!$ �#$������$5 !� #$�$������� #$ +�"���$ :( #$!� !�#�" $��$ �$!���������!,

8� !�%�" !�#���"�� �$!���������!$( �����!$� &$�$������$ �#���$ ��+$�� )�

#$!�#��$� �$ *���$ ��!$ *$ 2�%� �$"���$�1

.�3,?@/�(�)�� = �(�)�−�(�)
��������=�$ �����!$� &$�$������$1

#$!� !�#�" $��$ �$!���������!,�(�) = 



� �
� �

� � � + ��


 ��(�) = [�� � + ��� � + �� + ��]

�����!$� ��+$�� � #$!�#���"��1

�
−�(�) =








�
� + �� � + �� + �� + ��
� + �� � + � + ��

� �








���&�� *�
��+
 ��������� ���)���%���
� �� ���
%�� �� 
�
��

�$�!��$�$� !�#���"�� '� +������� �����!��" *���$ �� � !�� !� �����!� ��4$

!���!�$� �����!$ *�����# #$ "� $!�����"$ !�#���"�� '� +������� *���"$"�*���"$" [Bed89]1

�������� 	
��
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���� �������� @:



➊ �!����� ������$��$)��$1 .�3,�7/�� = '�∗ ��� +-�∗ ���
➋ �!����� #$ ����$1 .�3,�:/��+� = ��∗ ��� +��∗ ���
,���$

1
�� �� � . +$!������!�"��� #$ �$)��$( ������$ )� ����$;

 � �����!$� �$)��$�������$;

7 � �����!$� �$���$ � ����$;

% � �����!$� ����$ � ������$;

2 � �����!$� ����$ � ����$;


 � +����2�"� #��!�$� #$ ���*;

�$#�!$�$� �����!�� &$�$������$ *�"������"$ *$ 2�%� �����!�"�� !���!�$�����!$ �"$

!�#���"�� �$ ��!$ ��$����+1

�� = �� +7�� =  �� +7 (%��−� +2��−�) = �� +7%	�� +72	��
�� = ( # +7%	 +72%	� +72�%	� + ,,,,72	−�%		)��
�$%�"� $4*�$��� �����!�� &$�$������$1

.�3,�</�(	) = + Σ
�=�

	−�
(72�%)	 �+�

"#���
�$
�1

����[�(	)] = 
 �
 2	 = 7

��������


�#�" 
.::;:7/ *���$ �� #$�!��� !� �����!�"$ ��4$1 ,� = 



�

�



 � � = [�]� � = [�]�� = [�]


�#�" 
.:::;:7:/ 2���� $��$ #$�!��� #$ �����!�"$1

� = 



�

�



 � � = 




� �

� �



 � � = 




�

�



 � � = 




� �

� �



 �

���&�& *��������� �� �����
�� �������

	$ *�$�$� '�� #$!�#��$� *��� ��"����$� �"&������"�� 3��$�2� [For73], [Vit79]

!��$ "�!�$�% *$ *���!�*��" #������$� D�����& �����$ '���$ !�+-���" #$ !�# �$!$*������

)� !$" $������ *$���� � �$�"�%� )� !��$!��� ���� $+$����"$ $����,

 
*�����	
 $������ !�*���#$ ��� ����� *�)� 1

➊ 	$ ������"�%$�% !�#���" '� ����$� ��" *$ ��+$"�" k = 0,

➋ 	$ ������"�%$�% *��#$��"$ �� ��"��1 !

� = 7

➌ 	$ ��!�$�$��$�% +����2�"� #$ ��+$"1 k=k+1.

➍ 	$ !�"!�"$�% �$���!� ��$! �$� ! � !$ ���� '� ��#���"$ #$ *$ ��+$"�" I �"

��$""���"��,

�������� 	
��

���� � 	�	���� �� 
�����
���� �������� @<



➎ 	$ �$���$ ����� !�"$� #$ ������$ '� ��$!��$ ����$ !��$ ��$ �$���!� ����� 
.���
�

��/1 #�,

➏ 	$ !�"!�"$�% *��#$��"$ �� ��"�� *$ ��+$"�" I1 .�3,�C/!

� = !


�−� + �


➐ ��! � $��$ "��&��$� �$!+$��$� �$!$*������$ )� I G L+M, �$ �$+��$ "� *���" C,

➑ 	$ #$!�#$ ! ��� �$!$*������ �$!+$��� !��$�*��% ����$ ! �� !$ ���� '� ����$�

!� ���� ����� ,


$���� � �$!+$�� #$ � 2���( *$���� �*"�!��$� �"&������"�� 3��$�2� �$ $�$!��$�% 

�*$�����, 8� *��!��! ( �$ "����$�% "��&��$� #$ !�����-�&$�$ � !�#���"�� "� �,3<	−�

�"&������" 3��$�2� �$*�$%��� �� !�% *����!�"�� #$ !$�!$���$ �*$�������" *$����

& ���$� #����"�� ����� '������ &���, 8� *�$%$��( #$!�#���$"$ 3��$�2� ���� ��*"$�$����$

'� �$0��"�&�$ 3�	�,

�$#�!$�$� ��� ��"�� #$ �*$����� $�$!����$ *$���� #$!�#��$� ���� ���2�" .2��/

*��� �*"�!��$� �"&������"�� 3��$�2�( *���$ �� �$#�� *��� ��*�������� 
�����	
	� ��

�������, �!$���� !���� '� "���$� #$ #$!�%�� *�����"$ *$ #����� #$!�# ���( #$ '�#�� !$ ���

�2����� *$ �� ������ ��+$" #�� ��$""�� � ����$ ���! #$ *��#$�$ ����� ( !� !��#���� !� #$

"� �"���� �$������"�%��$ � �� ���� ���"�%��$ ������� � ��+$"$ .� � 
	�*���� �� ������� �

!�#�"��/,


$���� *����" ��+$"( !-�# �$ ���"�%$�% *$ 2�%� �"&������"�� 3��$�2� �����

�$!+$��$"$ #$ !�# ���!���$ ��$� �� �� .������
�/( ��� ��" #$ �*$����� $�$!����$ $��$

��2�������" �$#�� ��� #$ �"�$ ��+$"$ *$���� !��$ ���"�%� !�*���#$ ����$ �� ��"$ !�#���"��,

�������1 
�#���" 
.::(:7/ 2���� ��$ �����!$� &$�$������$1 ,�(�) = 



� +�
�





8� ��2$"�" �3,� �$ �*$!���! ����%����"$ '���$ �� ��( *$���� !�#���" !����#$���,

"���
	
 #$�8 
�#�� !��+�"������" 2���� 
.C;</

�� �� Q
�Q�� ��+


7 7 77 7

: :: :

: 7 :7 7

: 7: :


����#$� � � �$!+$�� 2���� *����!�"�� ��( !� +$!����" #$ ����$ ���!��� )�

�$!+$��$"$ !�#��$( �������� �$�*$!��+ �$!$*������ .!� $����/1

�� : 7 7 : : : 7
�� 7 : 7 7 : : :
Q
�Q�� :: :7 77 :: 7: 7: :7
�
� ��� :7 :7 :7 :: 7: :: :7,

�������� 	
��

���� � 	�	���� �� 
�����
���� �������� @C



3�� �*"�!� �"&������" #$ #$!�#��$ 3��$�2� !� #$!�%�$ �$&�$���� , 	$ �2��� C

�$&�$��$ #$ #��&��� !� <( �$�*$!��+ C ��+$"$,

.� � �$!+$�� �$!$*������ ; 
 � �$!+$�� !��$!��� ; � � �$!+$�� #$!�#�� /,


$���� !�#�" !��+�"������" 2���� 
.::;:7/ !� < �� ��( ��� #$ !�#��$ :1< )�

"��&��$ #$ #$!�%�$ <( �$ +�� $�$!��� '� !�%�" �*"�! ��� �"&������"�� 3��$�2� !"���!( *$����

��$!��$ 2�� #$!�#��( ? �*$����� #$ �#����$, ��! �$ �$&�$��$�% *��!$��" #$ #$!�%�$ )� �$

�$������"�%$�% ��$""����" "� ��$!��$ #�� ��+$"$ ����!� �$ +�� $�$!��� '� �$#�$ #��� C

�*$����� *$���� �� 2�� #$!�#��( !$$� !$ !��#�!$ "� � �$#�!$�$ #$ <�O � ��� ��"�� ����" #$

�*$����� $�$!����$ *$���� #$!�#��$ *�$!�� )� � ���*�"�� ��$!��� *��!$��"��, �!$�� ��*� $��$

#$��$2�� #$ ���" '� !�%�" #$!�# ��� '� ���* �$�" � #��$"��,

"#���
�$

1 

➊ 8� !�%�" !�#���"�� 2����$( �$���!� ��$� ! � #�� ��$""�� �$ #$�$���� *$ 2�%�

��������� 9�����* #����$ &��*���"$ #$ 2���,

➋ 8� &$�$��"( *$���� #$!�#��$� 3��$�2� � !�#���"�� !��������$ '� !-�* ��"���( �$

+� ��"��� �������� �	�
������ 
�������� #����$ &��*���"$ #$ ���2�"��� ��"��2��,

➌ 1	�*���� �� ������� � ���	
	� .�/ +� �� #$����� '� *���&����" ��� ���, 8�

$�$�� ( �!$���� !��$�*��#$ ��� ��"�� ����� #$ ��+$"$ #�� &��� !��$ ���&�� 

!�*�!����$� ��4�� #$ !��$!��$ � $����"�� *$ 2�%� !�#�"�� ���"�%��,

➍ ��! *$ �"����" ��+$" $4��� ��� ��"�$ �� �� !� *��#$�$ #$ +�"���$ ����� ( �$

#$!�#$ #$�$!��� $����"�� )� ��*���2�"����$� !��$!��$� "�� *$ �!$" ��+$", 	���

�$!$���$ '� �!$�� !�%( #��$ ��*"��$����$ *$���� � �$�"�%� !��$!��� $����"��,

�������� 	
��

���� � 	�	���� �� 
�����
���� �������� @?



���&�, #��$���
�%��� ��������� ���)���%���
��

�� !�# !��+�"������" $��$ '� *���!�*�� ������� "��& )� ��$ �!�*�" #$ � !��$!��

$����"$ #�����2���$ �"$����( *$ � ���� �*�����$� "��, 8� !�%�" '� !��$ ��� ��" $����"�� !��$

��$!�$�% �� �$&�$�� !�#�� #$* )$)�$ !�*�!����$� #$ !��$!��$ � #$!�#���"��( �$ ���!0$�% 

���$�+�"�" �$�*$!��+ )� �$ !$�$ �$���������� "��, �!$�� $+$���$�� �$ ���$)�$ ��������� ��

����������,


�*�!����$� ���� !�# !��+�"������" #$ #$�$!��$ )� !��$!��$ � $����"�� �$ ���#��% 

*���1

◆ ����!���� #������$"�� !�#�"�� .
����
	
 ��������
��/;

◆ *��2�2�"����$� #$ #$!�#��$ $����� !� ���!��$ #$ #������� D�����& ����� 

.���� 2���
�� �
������/ #����$ ���!��$ #�� �$!+$��$ !�#��$ ������� "��&�,

	��
�
$
�� �������� ������ �� ����� 1 � !�#�"�� !��+�"������" $��$ $&�" !�

#������� D�����& ����� #����$ ���!��$ #�� �$&�$��$ #$ � !�#�$ �"$ !�+-���"�� #$ !�#

!��$ �� !��$�*��# '� !�#��" ������",

	$!+$��� ������� !�$�! ����$ � #������$"�� D�����& �����$ #$ ��#�� :; <; C;

,,,, �$ ���$)�$ 
����
	
 ��������
�� !�#�"���

8� !�%�" !�#���"�� "�����$( *��!$#��� #$ !�"!�" � #������$"�� !�#�"�� �$ ���*"���! 

*��� ��*�����$� ������� �$&�$��$"�� !�#��$ "� !�"$� ���#��$���" !��$�*��% ����$

�$!+$��$� �������$ #$ %$����� .����%��� !���/, ��$2��$ !�"!�"�� '� �!$�� !�% #��� *��#$�$�

����� � �$&�$��$"�� !�#��$ #$ � !�#�$ !��$ �� ���� ��"$ *$ *����" ��+$",

������ ��*$����� � )���"�� #������$"�� !�#�"�� �$ ���$)�$ �������� 9�����*

������ &�����2���
�� �
������� � !�#�"��,


$���� �� !�# !��+�"������" !� #������� ����� #$ ��#�� � #$ +�"���$ #� �$ *��

!��$!�� � $���� '� *���$"$ � !�#�$ #�! 2t+1 < d L,

�������� 	 #$�$���� � *����"�" #������$"�� )� #������� D�����& ����� �

!�#�"�� !��+�"������" 2���� 
.C;</ .=�&,�3,@/,


$���� *����" ��+$" �" ��$""���"�� �$ !�"!�"$�% #������� D�����& '���$ !�+���$"$

#$ !�#1 77 )� ::, �$%�"� #������� #$ ��#�� :1 �� = <,


$���� #������� #$ ��#�� <( �$ +�� !��*��� �$!+$��$"$ #$ #�� !�#�$ !��$ ��

!���!�# '� *����" !�#��1 �$��": .7777;77::/ !� �$��" �" #��"$� .:::7;::7:/, ���

!$"$ ? !��2������ *���2�"$ �$%�"� 1 ,�� = C

�������� 	
��

���� � 	�	���� �� 
�����
���� �������� @�



�!$"�)� �$%�"��� �$ �2���$ ���*"� *��� !�"!�"�" *��#$��� �����$ � �$!+$��$"�� #��

�$��" �" #��"$�( �$��"$ '� *����" !�#��,

�������� #$ ��#�� C !��$�*��#$ *��#$��� �����$ � �$!+$��$"��1

.:::777;:::7::;::7::7;::7:7:/1 �� = C,

8����!-� �!$��� +�"���$ �$ �2���$ *$���� !�"$� :::777 !��$ �$ ��$)�$ !� !$�

���#��$���" ( �$%�"� ! ��� �2����� "����� ��*$����� � +�"���"�� *����"�"��

#������$"�� {2; 3; 3 ....}( �#�! #������� D�����& ����� � !�#�"��1 ����

 = C,

%�3��*	
 �� ������ ����
����� �" ���� !�# !��+�"������" 2���� !� ���� #$ !�#��$

� )� #������� D�����& ����� # � ���� �$ !�"!�"$�% !� �$"����1

.�3,�?/�� = ��� ��



"#���
�$

1

➊ 8� !�%�" �$���"$"�� ��#�"��$( *$��������$"$ ���������$� #$*��# #$ #�������

$�!"�#��� #����$ �$���"$ )� �� #$ !$� D�����&, �������� $�!"�#��� * �����! 

#����$ #�� �� �� ��$ �$�����!���� $�$�&�$� �$!$���$ *$���� � �$ $�$!��� ����%����

�$�*$!��+ ,

	$ !�"!�"$�% *$���� ��$!��$ !����$"���$ #$ �$���" #������� $�!"�#��� ����� (

�$�*$!��+ �$#�$( !��$ #$�$���� *��2�2�"����$� #$ $����$ ��4�� ( �$�*$!��+

�$#�$( � #$��#�"�����"��,

➋ 
$��������$"$ #$ !��$!��$ � $����"�� �"$ !�#���"�� !��+�"������"$ �$ $4*��� 

*���1

◆ *����"�" #������$"�� )� #������� D�����& ����� ;

◆ "��&��$� ����� � ���� �$&�$�� !�#�� !��$ ���&�� !��$!��� ��� ��"��

��4�� #$ $����, �!$�� *����$��� *$����$ �$�"�%��$� ��$� !��*������ '���$

!�#���"$�2"�! !��$!����$ #$ $���� )� !$"$ !��+�"������"$,

�������1 
�#�" !��+�"������" 2���� 
.C:;:C;:</ [Scr95/1] !� *����$����1

◆ k = 2 ���� �� *���"$"$;

�������� 	
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=�&,�3,@ ���&���� 5��$""��5 � !�#�"�� 
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◆ n = 3 �$)��� *���"$"$;

◆ R = 2/3 ���� #$ !�#��$;

◆ M = 2 !$"�"$ #$ �$����$;

◆  s = 4 �� ��;

◆ v = 1 ."��&��$� #$ !�����-�&$�$/;

◆ H = 4 .#������� D�����& ����� /;

◆ c = 1 $����$ !��$!��2�" ;

◆ d = 2 $���� #$�$!��2�"$;

◆ L = 2 !�#�$ ."��&��$� ������ �$!$��� � �$&�$���"�� �$!$*������ *$����

!��$!��� ��$� $����/;

�����!$� &$�$������$1

�(	) =







: +	 :
: : +	
: 	









�#�" ��$ �� !-)��& #$ !�#��$ G = 8/3 .?(99:#B/ ����# !$" ��� *$�������� #��

����"�� !�#���"�� !��+�"������"$ 2����$( !� #�� +����2�"$ #$ ����$ )� �� ��+$"( !�

����!��� #$ ����$ ���$���! .����" ?7@� !�#��� *���2�"$/,


�#�" *�$%$���� !��$!�$�% � $����$ )� #$�$!�$�% #�� $���� #������� �$&�$��

!�#�� �$!$*������ #$ � 2���,

	��
�
$

�

➊ 
	�*���� �� �������1 .�/ $��$ ��� ��" ����� #$ !�#�$ #�* !��$ '� *����"�"

#������$"�� �$ �2���$ #������� D�����& ����� ����" � !�#�"��;

➋ ��������� �� �������� � �����
�� �$ #$���$)�$ *��� �$"���� δ = d/nL;

➌ ��������� �� �������� � �����
�� ��$ �$"���� #$ #$������$ γ = !E��;

.# � ��� ��" $����"�� #$�$!��2�"$ '� � !�#�$ �$!$*������$; ! � ��� ��" $����"�� !��$!��2�"$

'� � !�#�$ �$!$*������$,/


$���� !�#�" 
.C:;:C;:</�$ �2���1 δ = 2/6 = 33,33% )� γ = 1/6 = 16,66%,

!��*�����+ !� !�#���"$�2"�! !��$!����$ #$ $����1

◆ D�����&1

H(7,4) δ = γ = 1/4 = 25%;
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��

���� � 	�	���� �� 
�����
���� �������� @9



H(15, 11) δ = 2/11 = 18,18%  γ = 1/11 = 9.09%;

◆ �$$#�	�"����1

RS(7,5) δ = γ = 1/5 = 20%;

RS(15,11) δ = γ = 2/11= 18,18%.

"#���
�$

�

◆ 
�#���"$ !��+�"������"$ ���� ��� ���*"$ #�� *��!��" #$ +$#$�$ �"

��*"$�$�� ��� !��!���$"�� #$ !�#��$E#$!�#��$ #$!-� !�#���"$�2"�! !��$!����$ #$

$���� ,


�#���"$ !��+�"������"$ 2����$ �*���$( !� :; <; C ��� ? +����2�"$ #$ ����$ ����

*�$%$����$ '� ��2$"�" �3,�,

" 721;1 #$�<


�#��� !��+�"������"$ 2����$ �*���$


�#
!��+�"������"

��� ��"
+����2�"$"��
#$ ����$

����
!�#���"��

��������
D�����&
����� 

��� � #$
$����

!��$!��2�"$


-)��&�" #$
!�#��$
[dB]

C(3;1)* 1 1:2 3 1 1,76

C(11;01;31) 1 2:3 3 1 3

C(5;7) 2 1:2 5 2 3,98

C(31;11;32) 2 2:3 4 1+d 4,26

C(7;11) 3 1:2 6 2+d 4,77

C(71;53;35) 4 2:3 5 2 5,23

.> !����$� !�$��!�$���"�� *�"�����$"�� &$�$������$ �$ ��!$ '� ��#��$ #$�!�$�! ����$ �

*��$��"�� �*$������"�� �/,

◆ 
�#���"$ !��+�"������"$ ��"����+$"( !��������$ '� !-�*��� ��"���( ���&�� 

*$��������$ ��*$�����$ #$ !��$!��$ � $����"�� [Ugr93],

�"&������" 3��$�2� �$ +� �*"�!� '� !�%�" ���������$� ��"����+$" ��"����# *$����

!�"!�"�" �$���!�� ��$� ! � #�� ��$""�� ���!��� ��������� �	�
������ 
��������� #����$

���2�"���"$ !��*��$��$ �"$ #��$���$"�� �$!+$��$1

.�3,��/��
� (�; �) = Σ

�=�

�

��
� (��; ��) = Σ

�=�

�

(�� − ��)�

,���$

1 �$!+$��$ #$ � ���2�"��� #�� �=,� = [����,,,,,��]; � = [����,,,,,��]
�$�$������$� #������$� $�!"�#�$�$ * �����!$ �����$ )� � "��&���� �����$ #$ #$�
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��

���� � 	�	���� �� 
�����
���� �������� @6



!�%�$ �$ +� ��!$ *$ 2�%� 
����
	
	� ��������
�� ���	
	�, 
-)��&�" #$ !�#��$ � !�#�"��

!��+�"������" �$ !�"!�"$�% *$ 2�%� ���������� �	�
������ 
�������� ������� .��
� �	

 /

#����$ ���!��$ #�� �$!+$��$ !�#��$ #$ "��&��$ �$"������ ( !��$ �� !���!�# '� *����"

!�#�� .� � ���� #$ !�#��$/1

.�3,��/� = � ⋅ �� ��


�

8� !��!"�%�$( *$���� ����������"$ #$ ��! +��$% ( ��$!���$ #��� #$ %&���� �#���+

�"$����( !�#���"$ !��+�"������"$ 2����$ ���� ��� �+����F���$ #$!-� !�#���"$�2"�!

!��$!����$ #$ $���� ����# )� ��� ���*"$ #�� *��!��" #$ +$#$�$ � ��*"$�$�� ��� !��!���$"��

#$ !�#��$E#$!�#��$, 8� ����������"$ #$ ���$ +��$% ��� '� !$"$ ��$!���$ #$ ��#��&( ���� ���

�+����F���$ !�#���"$ �$$#�	�"���� )� !$"$ !��+�"������"$ !��������$ '� !-�* ��"��� .*$

���2�"��� $4*����2�"$ *$ �� ��� � ���$ #$ 2���/( !� !�*�!����$ ���$ #$ #$�$!��$ )�

!��$!��$ � $����"��( �"$�����$ ��� &��*��$( !� *���2�"����$ #$ #$!�#��$ '� ���* �$�", 8�

*�$%$�� �$ ���"�%$�% �$��#$ ��4�$ #$ !�#��$ .������������������/ !��$ � !��2��$

�+����F$"$ !$"�� #�� �$0��!� .=�&,�3,:7/,

�!$��$ !�#��� �� ���� *���� ��� *��*��$ #$ =���$Q .:@��/ #�� �$��#� � $+�"���

*��� '�2�� � ���$� *���!�*��"�� #$ ���$�!�"��$ � ���2�"���"��, ���"�%��$� '� �$��$ � #�� ���

��� ��"�$ !�#���$( '� +$#$�$� �2���$��� ���� !-)��& #$ !�#��$ ��*$����( $��$ ��$!+$�� '�

����$�$"$ #$ !�����!���$ !� *��$�$ #$ ���������$ "������ ( !� '� !�%�" ����������"�� *���

���$"��, �$!$�� .:@@C/ �� ���� �����#��$ !�#���"$ #$ ��* �	��� !��$ ���"�%$�% �� *��#�� #$

�������� 	
��

���� � 	�	���� �� 
�����
���� �������� @@

=�&,�3,:7 
�#�� ��4� !��$!��� #$ $����

=�&,�3,:: 
���!�*��" !�# ��� ���2�



#�� !�#��� !��$!����$ #$ $����( !� ���2�"���"$ #$ #��$ ���$�!�"��$ .��&,�3,::/ [Skl97],

�$!�#��$� #��$"�� �$ *���$ ��!$ *$ *���!�*��" $���������"�� #$ ��4�� *��2�2�"����$,


�#���"$ ��"����$( 52"�!5 ��� 5��2��$5( ���� '� &$�$��" ����$����!$ *$���� � �)��� #$!�#��$�,

���, *����
%��

6�� 
�#��� �	
�� *$ 6 2���( !� *������$ *�� ( �$!+$��� #$ !���!�$�$1 �:2<!C#?,

6�� 
�"!�"��� C��=� � )���"�� #$ ���2�"��� .:7; ?; :; �; <; �/ '� �=.:�/ !�

*.4)=4
R4R: )� ω3=6.
64� 
�"!�"��� ���=� � �$!+$��$� .:<; 6; C; 7; :/ '� �=.:�/ !� *.4)=4
R4R: )�

ω5=8.
65� 
�"!�"��� 9��=� � �$!+$��$� .:; �; �; 7; < ;7; :/ '� �=.6/ !� *.4)=4�R4R: )�

ω7=5.
68� 
�#��� '� #��$���" ���* �$!+$��� .C : < 9 �/ '� !�# �	.9;�/ '� �=.6/ !�

*.4)=4�R4R: )� ω7=4.
6<� 
�#��� �$!+$��� .:: @ 9/ '� !�# �	.�;C/ '� �=.:�/ !� *.4)=4
R4R: )� ω5=10

*��� �$��#� ��=�,

6=� 
�#��� �$!+$��� .< � 7 ? :/ '� !�# ����$����! �	.9;�/ '� �=.6/ !�

*.4)=4�R4R: )� ω7=2.
6>� 	!��$�� �����!$� #$ *������$ )� !$� &$�$������$ � !�#�"�� D�����& D.:�;::/,


�"!�"��� .'� #B/ !-)��&�" !�#�"��,

6?� 
$ �� !���" #$ ���������$ 2���� !� *��2�2�"����$ #$ $����$ � 2���"�� #$ :7�
(

�$ ��"��$)�$ !�#�" D�����& D.9;?/, 
�"!�"���1

�/ *��2�2�"����$� #$ #$ !�#��$ !��$!� ;

2/ *��2�2�"����$� #$ �$#$�$!���$ � $����"��,

6��� 
�#�" �	.9;�/ $��$ ���"�%�� *$���� ���������$ *$ �� !���" �!��"( !�

*��2�2�"����$ #$ $����$ #$ ���2�" :7���, 
�"!�"��� *��2�2�"����$� #$ $����$ � #$!�#���"��,

6��� �� !�#�� !��+�"������" 2���� !� *�"�����$"$ &$�������$ &:.4/=4�R4R: )�

&<.4/=4�R: $��$ *�� '� !��!�# !� �� !�#���2"�! .�$&�"� #$ !�#��$1 77 �S 7:7; 7: �S 7::;

:7 �S :7:; :: �S ::7/, �$�$���� ��$""���" !�#�"�� �2�����, 
�"!�"��� #������� D�����&

����� )� !-)��&�" #$ !�#��$ �" �!$�����,

6��� �$�$������� *����"�" #������$"�� )� !-)��&�" !�#�"�� !��+�"������" !� ��� 

:1<( 
.::;<7/ .��#��$ !�$�! ����$ � *��$��"�� �*$������"��/ !�������� '� �=.?/,
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